Rel. 2017-08240924

www.atp-czesci.pl
Czesci do ekspresow

RANCILIO

ZAMIENNE DLA
SJONALNEJ] GASTRONOMII

This catalogue is automatically generated.
Therefore, the sequence of the items might
not be always shown at best.

Updates will be issued in case of additions
and/or amendments.

Suitable universal spare parts may not be included

aa

—_— — \
4 T @]

o ol




@k RANCILIO

LEVER GROUP 29-Z11-S10

Z9=-Z11- §10

2 3 51 54 53 62 52

RAO0102

Positions without LF code no.: upon request




RANCILIO i,&a
@
LF code no. Description
1241513 BLIND HEXAGONAL NUT M8 UNI 5721
3 1186504 WASHER FLAT M10
7 1063911 BEARING 6202 ZZ NSK
8 1242654 CIRCLIP E/15
10 1528030 MID HEXAGONAL NUT M6
11 1184820 HEXAGON HEAD SCREW M6x25
14 1250023 RADIAL SEEGER RING g 5 mm
22 1250801 LEVER GROUP SPRING
25 1186817 LIP SEAL @ 51x38x7.5 mm
27 1186816 LIP SEAL @ 50x38x7.5 mm
28 1081003 SHOWER SCREEN g 57.5 mm
29 1186812 FILTER HOLDER GASKET @ 72x57x8 mm
31 1186612 O-RING 02025 VITON
36 1528026 CYLINDER HEAD SCREW M8x20
37 1184804 CYLINDER HEAD SCREW M6x8
38 1186811 COPPER FLAT GASKET @ 10x6x1 mm
39 1186823 COPPER FLAT GASKET @ 27x21.5x1 mm
40 1186822 VITON FLAT GASKET @ 13x4x4 mm
41 1250819 VALVE SPRING @ 16x30 mm
43 1186619 COPPER FLAT GASKET @ 18x14x1.5 mm
45 1523674 NON-RETURN VALVE SPRING g 6x28 mm
47 1160530 1 CUP FILTER 7 gr
48 1160529 FILTER 2-CUP 14 g
49 1250101 FILTER BLOCKING SPRING @ 1,00 mm INOX
50 1165046 FILTER HOLDER RANCILIO
51 1241511 FILTER HOLDER HANDLE
52 1022501 SINGLE SPOUT g 3/8"
53 1022502 DOUBLE SPOUT g 3/8"
54 1160559 CHROME PLATED SCREW FOR SPOUT
55 1190005 PAPER SHIM g 70x57x0.5 mm
56 1190003 RUBBER SHIM @ 70x57x1 mm EPDM
57 1160251 1 CUPFILTER 6 g
58 1160252 FILTER 2-CUP 12 g
59 1160339 BLIND FILTER @ 70x17 mm
62 1022503 STRAIGHT SINGLE SPOUT g 3/8"
63 1160345 2 CUPS FILTER 18 gr




(\K){ 0
% RANCILIO

GROUP 211-S10

Z11

RA0202

Positions without LF code no.: upon request




©on

RANCILIO

Position LF code no. Description

1 1184006 LOW CYLINDER HEAD SCREW M4x12
2 1186611 O-RING 02025 RED SILICONE
2 1186612 O-RING 02025 VITON
3 1120101 3-WAY SOLENOID VALVE PARKER 115V 50/60Hz
3 1120102 3-WAY SOLENOID VALVE LUCIFER 115V 60Hz
3 1120330 3-WAY SOLENOID VALVE LUCIFER 240V 50Hz
8 1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz
4 1120334 3-WAY MECHANICAL COMPONENT LUCIFER
4 1120339 3-WAY MECHANICAL COMPONENT PARKER
5 1120332 COIL LUCIFER/PARKER 220/240V 9W 50Hz
5 3120032 COIL PARKER ZB09 9W 220/240V 50/60Hz
6 1349037 DRAIN PIPE
7 1528026 CYLINDER HEAD SCREW M8x20
8 1186810 FLAT COPPER GASKET @ 24x21x1 mm

10 1186811 COPPER FLAT GASKET @ 10x6x1 mm

11 1184804 CYLINDER HEAD SCREW M6x8

12 1190001 PAPER SHIM g 73x59x0.8 mm

13 1186812 FILTER HOLDER GASKET @ 72x57x8 mm

14 1349803 BREW GROUP SPRAY NOZZLE @ 21 mm

15 1081036 SHOWER @ 57.5 mm

15 1081536 SHOWER SCREEN g 57.5 mm

16 1528516 CYLINDER HEAD SCREW M5x12

17 1160339 BLIND FILTER @ 70x17 mm

18 1160251 1CUPFILTER 6 g

18 1160530 1 CUP FILTER 7 gr

19 1160252 FILTER 2-CUP 12 g

19 1160345 2 CUPS FILTER 18 gr

19 1160529 FILTER 2-CUP 14 g

20 1250101 FILTER BLOCKING SPRING g 1,00 mm INOX

21 1165046 FILTER HOLDER RANCILIO

22 1241511 FILTER HOLDER HANDLE

23 1186504 WASHER FLAT M10

24 1241513 BLIND HEXAGONAL NUT M8 UNI 5721

25 1022501 SINGLE SPOUT ¢ 3/8"

25 1022503 STRAIGHT SINGLE SPOUT g 3/8"

26 1022502 DOUBLE SPOUT g 3/8"

33 1186828 COPPER FLAT GASKET @ 30x26x1 mm

36 1186822 VITON FLAT GASKET @ 13x4x4 mm

39 1250819 VALVE SPRING g 16x30 mm

43 1160801 WATER FILTER M8x1

44 1501811 NOZZLE M8x1 HOLE & 0,5 mm

47 1250817 VALVE SPRING g 17x39 mm

49 1250816 CAP SPRING g 12x22 mm

50 1186809 FLAT PTFE GASKET @ 12x9x1 mm

51 1186803 O-RING 02037 EPDM

52 1186810 FLAT COPPER GASKET @ 24x21x1 mm

57 1348817 CIRCLIP RADIAL g 4 mm

58 1184853 ROLL PIN

61 1250810 SPRING @ 10x31/45 mm LEVER RECALL

65 1250812 SHOCK ABSORBER SPRING g 13x64 mm

67 1348814 TOOTHED WASHER EXT. M4

68 1240801 MICROSWITCH LOVATO KSC3S

70 1528030 MID HEXAGONAL NUT M6

75 1528621 HEXAGONAL NUT M8 SHORT M8




o
=
O
=
<
o

AUTOMATIC GROUP Z29-Z11

RA0302

Positions without LF code no.: upon request



RANCILIO %&a
@
Position LF code no. Description
2 1250808 CONTROL LEVER SPRING @ 14x23/40 mm
7 1186410 FLAT EPDM GASKET @ 21x16x2 mm
10 1186427 FLAT EPDM GASKET @ 10x4x2 mm
13 1186460 LIP SEAL @ 19x13x4 mm
16 1186825 COFFEE GROUP GASKET @ 32 mm
17 1186826 COFFEE GROUP GASKET @ 32 mm
20 1186827 COFFEE GROUP GASKET g 125x105x1 mm
22 1528621 HEXAGONAL NUT M8 SHORT M8
23 1250816 CAP SPRING g 12x22 mm
25 1348326 SPRING RING RADIAL g 7 mm
26 1184867 HEXAGON HEAD SCREW M4x16
28 3528213 HEXAGONAL NUT MID M5
33 1250023 RADIAL SEEGER RING g 5 mm
38 1186619 COPPER FLAT GASKET @ 18x14x1.5 mm
39 1184804 CYLINDER HEAD SCREW M6x8
40 1186811 COPPER FLAT GASKET @ 10x6x1 mm
41 1523674 NON-RETURN VALVE SPRING g 6x28 mm
43 1528030 MID HEXAGONAL NUT M6
45 1186831 LIP SEAL @ 104x88x8 mm
47 1186832 LIP SEAL @ 24x14x5 mm
50 1186817 LIP SEAL @ 51x38x7.5 mm
50 1186820 LIP SEAL @ 55x41x7.5 mm
51 1186816 LIP SEAL @ 50x38x7.5 mm
51 1186821 LIP SEAL @ 54x40x7.5 mm
52 1528026 CYLINDER HEAD SCREW M8x20
53 1081003 SHOWER SCREEN g 57.5 mm
54 1186812 FILTER HOLDER GASKET @ 72x57x8 mm
55 1160251 1CUPFILTER 6 g
56 1160252 FILTER 2-CUP 12 g
57 1250101 FILTER BLOCKING SPRING g 1,00 mm INOX
58 1165046 FILTER HOLDER RANCILIO
59 1241511 FILTER HOLDER HANDLE
60 1186504 WASHER FLAT M10
61 1241513 BLIND HEXAGONAL NUT M8 UNI 5721
62 1022501 SINGLE SPOUT g 3/8"
63 1022502 DOUBLE SPOUT g 3/8"
64 1160530 1 CUP FILTER 7 gr
65 1160529 FILTER 2-CUP 14 g
68 1160339 BLIND FILTER @ 70x17 mm
69 1022503 STRAIGHT SINGLE SPOUT g 3/8"
70 1190005 PAPER SHIM @ 70x57x0.5 mm
71 1190003 RUBBER SHIM g 70x57x1 mm EPDM
72 1160345 2 CUPS FILTER 18 gr




% RANCILIO

GROUP S20

520 - MIDI - TECNA - SYSTEM S20 - S24 - 826 - S27

RA0402

Positions without LF code no.: upon request




977 ¢

4 ar% b — @
RANCILIO *’2’
Position LF code no. Description
1 9528028 HEXAGON HEAD SCREW M8x30
4 1184012 CYLINDER HEAD SCREW M5x10
6 1186810 FLAT COPPER GASKET @ 24x21x1 mm
8 1186811 COPPER FLAT GASKET @ 10x6x1 mm
9 1184804 CYLINDER HEAD SCREW M6x8
10 1186812 FILTER HOLDER GASKET g 72x57x8 mm
11 1349803 BREW GROUP SPRAY NOZZLE g 21 mm
12 1081036 SHOWER @ 57.5 mm
12 1081536 SHOWER SCREEN g 57.5 mm
13 1528516 CYLINDER HEAD SCREW M5x12
14 1160339 BLIND FILTER @ 70x17 mm
15 1160251 1 CUPFILTER 6 g
16 1160252 FILTER 2-CUP 12 g
17 1250101 FILTER BLOCKING SPRING g 1,00 mm INOX
18 1165046 FILTER HOLDER RANCILIO
19 1241511 FILTER HOLDER HANDLE
20 1186504 WASHER FLAT M10
21 1241513 BLIND HEXAGONAL NUT M8 UNI 5721
22 1241051 FILTER HOLDER KNOB CAP
23 1022501 SINGLE SPOUT ¢ 3/8"
24 1022502 DOUBLE SPOUT g 3/8"
25 1022503 STRAIGHT SINGLE SPOUT ¢ 3/8"
26 1186611 O-RING 02025 RED SILICONE
26 1186612 O-RING 02025 VITON
27 1455034 CYLINDER HEAD SCREW M4x10
28 1120101 3-WAY SOLENOID VALVE PARKER 115V 50/60Hz
28 1120102 3-WAY SOLENOID VALVE LUCIFER 115V 60Hz
28 1120330 3-WAY SOLENOID VALVE LUCIFER 240V 50Hz
28 1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz
29 1120332 COIL LUCIFER/PARKER 220/240V 9W 50Hz
29 3120032 COIL PARKER ZB09 9W 220/240V 50/60Hz
30 1120334 3-WAY MECHANICAL COMPONENT LUCIFER
30 1120339 3-WAY MECHANICAL COMPONENT PARKER
31 1349037 DRAIN PIPE
32 1528026 CYLINDER HEAD SCREW M8x20
34 1241513 BLIND HEXAGONAL NUT M8 UNI 5721
35 1160530 1 CUP FILTER 7 gr
36 1160529 FILTER 2-CUP 14 g
40 1384002 BRUSH FOR MAINTENANCE
41 1069002 STAINLESS STEEL MEASURING SPOON 20 ml
42 1069001 PLASTIC MEASURING SPOON 20 ml
43 1384001 BRUSH FOR COFFEE SHOWER
44 1384003 BLACK SHOWER CLEANING BRUSH
45 1385002 NYLON COFFEE TAMPER @ 50/57 mm
46 1385053 ANODIZED ALUMINIUM TAMPER @ 58 mm
47 1385600 DYNAMOMETRIC MANUAL COFFEE TAMPER @ 57mm
47 1385602 TAMPER MANUAL DYNAMOMETRICAL @ 57 mm
48 1160345 2 CUPS FILTER 18 gr




7/
% RANCILIO

GROUP CLASSE10-MILLENIUM

CLASSE 10 63—

39 41 43 44 47 464856 5960
42 45 58

35

MILLEMNIUM

Positions without LF code no.: upon request




©on

RANCILIO

Position LF code no. Description
1 9528028 HEXAGON HEAD SCREW M8x30
5 1186810 FLAT COPPER GASKET @ 24x21x1 mm
7 1186811 COPPER FLAT GASKET @ 10x6x1 mm
8 1184804 CYLINDER HEAD SCREW M6x8
10 1186812 FILTER HOLDER GASKET @ 72x57x8 mm
11 1349803 BREW GROUP SPRAY NOZZLE g 21 mm
12 1081036 SHOWER @ 57.5 mm
12 1081536 SHOWER SCREEN g 57.5 mm
13 1528516 CYLINDER HEAD SCREW M5x12
14 1186611 O-RING 02025 RED SILICONE
14 1186612 O-RING 02025 VITON
15 1455034 CYLINDER HEAD SCREW M4x10
16 1120101 3-WAY SOLENOID VALVE PARKER 115V 50/60Hz
16 1120102 3-WAY SOLENOID VALVE LUCIFER 115V 60Hz
16 1120330 3-WAY SOLENOID VALVE LUCIFER 240V 50Hz
16 1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz
17 1120332 COIL LUCIFER/PARKER 220/240V 9W 50Hz
17 3120032 COIL PARKER ZB09 9W 220/240V 50/60Hz
18 1120334 3-WAY MECHANICAL COMPONENT LUCIFER
18 1120339 3-WAY MECHANICAL COMPONENT PARKER
19 1349037 DRAIN PIPE
21 1002003 GROUP COVERING RING
22 1160339 BLIND FILTER @ 70x17 mm
23 1160251 1CUPFILTER 6 g
24 1160252 FILTER 2-CUP 12 g
25 1250101 FILTER BLOCKING SPRING g 1,00 mm INOX
26 1165046 FILTER HOLDER RANCILIO
27 1241047 FILTER HOLDER KNOB
28 1241050 FILTER HOLDER KNOB CAP
29 1186504 WASHER FLAT M10
29 1241513 BLIND HEXAGONAL NUT M8 UNI 5721
30 1022501 SINGLE SPOUT ¢ 3/8"
31 1022502 DOUBLE SPOUT g 3/8"
32 1160521 1 CUP FILTER HOLDER ASSEMBLY RANCILIO
32 1165621 FILTER HOLDER COMPLETE 1 CUP RANCILIO
33 1160545 2 CUPS FILTER HOLDER ASSEMBLY RANCILIO
33 1165645 FILTER HOLDER COMPLETE 2 CUPS RANCILIO
34 1319105 PUSH-BUTTON PANEL 3 BUTTONS
38 1250812 SHOCK ABSORBER SPRING g 13x64 mm
39 1528023 COUNTERSUNK FLAT HEAD SCREWS M5x16
46 1250029 LEVER SPRING @ 10x13/27 mm
54 1348817 CIRCLIP RADIAL g 4 mm
55 1184853 ROLL PIN
62 1240847 MICROSWITCH OMRON VX-5-1A2
66 1186810 FLAT COPPER GASKET @ 24x21x1 mm
67 1186809 FLAT PTFE GASKET @ 12x9x1 mm
68 1186803 O-RING 02037 EPDM
69 1250816 CAP SPRING g 12x22 mm
71 1250817 VALVE SPRING g 17x39 mm
73 1186822 VITON FLAT GASKET @ 13x4x4 mm
79 1186828 COPPER FLAT GASKET @ 30x26x1 mm
83 1250819 VALVE SPRING @ 16x30 mm
89 1160530 1 CUP FILTER 7 gr
90 1160529 FILTER 2-CUP 14 g
91 1022503 STRAIGHT SINGLE SPOUT g 3/8"
92 1160345 2 CUPS FILTER 18 gr




7/
% RANCILIO

GROUP CLASSE10-9-8-7-6-EPOCA

CLASSE10-CLASSES-CLASSES-CLASSE7-CLASSES-EPOCA

RA0602

Positions without LF code no.: upon request




ol RANCILIO
Grot
Position LF code no. Description
1 1439028 CAP 2 18 mm FOR BREW GROUP
2 1186677 FLAT COPPER GASKET @ 22x18x1.8 mm
3 1501811 NOZZLE M8x1 HOLE @ 0,5 mm
5 9528028 HEXAGON HEAD SCREW M8x30
7 1086014 SHOWER HOLDER DIFFUSER
8 1190005 PAPER SHIM g 70x57x0.5 mm
9 1190003 RUBBER SHIM g 70x57x1 mm EPDM
10 1186812 FILTER HOLDER GASKET g 72x57x8 mm
11 1349803 BREW GROUP SPRAY NOZZLE @ 21 mm
12 1081036 SHOWER @ 57.5 mm
12 1081536 SHOWER SCREEN @ 57.5 mm
13 1528516 CYLINDER HEAD SCREW M5x12
14 1186611 O-RING 02025 RED SILICONE
14 1186612 O-RING 02025 VITON
15 1120334 3-WAY MECHANICAL COMPONENT LUCIFER
15 1120339 3-WAY MECHANICAL COMPONENT PARKER
16 1184006 LOW CYLINDER HEAD SCREW M4x12
17 1120332 COIL LUCIFER/PARKER 220/240V 9W 50Hz
17 3120032 COIL PARKER ZB09 9W 220/240V 50/60Hz
18 1120101 3-WAY SOLENOID VALVE PARKER 115V 50/60Hz
18 1120102 3-WAY SOLENOID VALVE LUCIFER 115V 60Hz
18 1120330 3-WAY SOLENOID VALVE LUCIFER 240V 50Hz
18 1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz
19 1349037 DRAIN PIPE
22 1190001 PAPER SHIM g 73x59x0.8 mm
23 1190002 RUBBER SHIM g 73x59x1 mm EPDM
24 1486032 GASKET FILTER HOLDER @ 74x57.5x8.5 mm
24 5048248 GASKET FOR FILTER HOLD.g 74x57.5x8.5 mm
25 1528012 CYLINDER HEAD SCREW M5x14
27 5501167 SOLENOID VALVE ODE 3 WAYS 24VDC
28 1460203 PRECISION SHOWER SCREEN @ 57 mm
28 1460208 PRECISION SHOWER SCREEN @ 57 mm
29 1002003 GROUP COVERING RING
32 5059967 RING GROUP COVER
34 1250002 S/STEEL FILTER LOCKING SPRING @ 1.20 mm
34 1250101 FILTER BLOCKING SPRING @ 1,00 mm INOX
34 1250333 SPRING FILTER BLOCK @ 1.30 mm ST.STEEL
34 1250338 FILTER LOCKING SPRING @ 1.40 mm ST.STEEL
35 1165046 FILTER HOLDER RANCILIO
36 1241050 FILTER HOLDER KNOB CAP
37 1241513 BLIND HEXAGONAL NUT M8 UNI 5721
38 1241047 FILTER HOLDER KNOB
39 1141012 KNOB FILTER HOLDER
41 1022502 DOUBLE SPOUT g 3/8"
41 1022506 SPOUT DOUBLE g 3/8"
42 1022032 SINGLE SPOUT ¢ 3/8"
42 1022501 SINGLE SPOUT g 3/8"
43 1165214 FILTER HOLDER COMPLETE 1 CUP RANCILIO
44 1165215 FILTER HOLDER COMPLETE 2 CUPS RANCILIO
45 1160521 1 CUP FILTER HOLDER ASSEMBLY RANCILIO
45 1165621 FILTER HOLDER COMPLETE 1 CUP RANCILIO
46 1160545 2 CUPS FILTER HOLDER ASSEMBLY RANCILIO
46 1165645 FILTER HOLDER COMPLETE 2 CUPS RANCILIO
47 1160251 1CUPFILTER 6 g
48 1160252 FILTER 2-CUP 12 g
49 1160530 1 CUPFILTER 7 gr
50 1160529 FILTER 2-CUP 14 g
51 1160345 2 CUPS FILTER 18 gr
52 1160339 BLIND FILTER @ 70x17 mm
53 1460100 PRECISION FILTER 1 CUP 6/8 g H24.5
53 1460101 PRECISION FILTER 1 CUP 7/9 g H26.5
54 1460102 PRECISION FILTER 2 CUPS 12/18 g H24.5
54 1460103 PRECISION FILTER 2 CUPS 14/20 g H26.5
54 1460104 PRECISION FILTER 2 CUPS 18/22 g H28,5




v/
% RANCILIO

GROUP CLASSE6-7 LEVA

CLASSEG LEVA - CLASSE7 LEVA

11—

2

RAO0702

Positions without LF code no.: upon request




RANCILIO ~5 0
GroUD, 4
Position LF code no. Description

1 1241513 BLIND HEXAGONAL NUT M8 UNI 5721

6 1250801 LEVER GROUP SPRING

8 1063911 BEARING 6202 ZZ NSK
10 1242654 CIRCLIP E/15
14 1184820 HEXAGON HEAD SCREW M6x25
15 3528112 HEXAGONAL HEAD SCREW M6x16
21 1186817 LIP SEAL @ 51x38x7.5 mm
22 1186816 LIP SEAL @ 50x38x7.5 mm
24 1528030 MID HEXAGONAL NUT M6
25 1486032 GASKET FILTER HOLDER @ 74x57.5x8.5 mm
25 5048248 GASKET FOR FILTER HOLD.g 74x57.5x8.5 mm
26 1081003 SHOWER SCREEN g 57.5 mm
27 1186619 COPPER FLAT GASKET @ 18x14x1.5 mm
29 1523674 NON-RETURN VALVE SPRING g 6x28 mm
32 1160251 1 CUPFILTER 6 g
33 1160252 FILTER 2-CUP 12 g
34 1160530 1 CUP FILTER 7 gr
35 1160529 FILTER 2-CUP 14 g
36 1160345 2 CUPS FILTER 18 gr
37 1160339 BLIND FILTER @ 70x17 mm
38 1250002 S/STEEL FILTER LOCKING SPRING 2 1.20 mm
38 1250101 FILTER BLOCKING SPRING g 1,00 mm INOX
38 1250333 SPRING FILTER BLOCK @ 1.30 mm ST.STEEL
38 1250338 FILTER LOCKING SPRING @ 1.40 mm ST.STEEL
39 1165046 FILTER HOLDER RANCILIO
40 1141012 KNOB FILTER HOLDER
42 1022506 SPOUT DOUBLE g 3/8"
43 1022032 SINGLE SPOUT ¢ 3/8"
44 5076427 FILTER HOLDER COMPLETE 1 CUP RANCILIO
45 5077808 FILTER HOLDER COMPLETE 2 CUPS RANCILIO




Q;;& RANCILIO

WATER-STEAM TAP Z9-Z11-S20-EPOCA

S20-29-Z11
MILLENIUM
EPOCA

SCALDATAZZE
CUP WARMING
TASSENWARMER

33

= Z11 - EPOCA S20-524
MIDI - TECMNA 526 - 527 MILLENIUM

37 34 36 35

—

EPOCA ik MILLENIUM S20

RA1002

Positions without LF code no.: upon request




RANCILIO ~5 0
GroUD, 4
Position LF code no. Description
2 1528022 GASKET FASTENING NUT
3 1186311 NBR FLAT GASKET @ 13x4x4 mm
4 1324802 TAP SPINDLE ASSEMBLY
5 1250819 VALVE SPRING g 16x30 mm
6 1250025 SPRING GUIDE
7 1186804 CONICAL PTFE SEAL g 14x9x6 mm
8 1186810 FLAT COPPER GASKET @ 24x21x1 mm
9 1349038 TAP PIN
10 1186814 BRASS WASHER @ 13x9x0.5 mm FLAT
11 1250816 CAP SPRING @ 12x22 mm
12 1348052 TAP ADJUSTING BUSHING
13 1186443 PTFE FLAT GASKET g 18x9x0.5 mm
14 1528017 BRASS WASHER FLAT @ 17x9x1 mm
15 1348326 SPRING RING RADIAL g 7 mm
16 1348805 STEAM TAP
17 1348804 CUP WARMER WATER TAP
19 1449804 NUT @ 3/8"F H4 SPANNER 19
20 1241046 WATER/STEAM TAP KNOB
21 1241824 WATER TAP KNOB
22 1250820 STEAM HANDLE SPRING
23 1241831 STEAM TAP KNOB
24 1241830 WATER TAP KNOB
25 1241833 WATER/STEAM TAP KNOB
27 1186805 O-RING 0115 EPDM
28 1250151 SPRING @ 12x15 mm FOR STEAM PIPE
29 1186670 STEAM PIPE ARTICULATION BUSHING @ 12x5mm
30 1186201 GASKET FLAT PTFE @ 21x16.8x2 mm
31 1449811 COMPLETE STEAM PIPE
32 1449051 STEAM PIPE COMPLETE CHROME-PLATED & 10 m
33 1449863 STEAM PIPE COMPLETE STAINLESS STEEL @ 10
33 1449865 STAINLESS STEEL STEAM PIPE COMPLETE

36 1449864 COMPLETE WATER PIPE




& RANCILIO

WATER-STEAM TAP CLASSE10-9-8-7-6

CLASSE10-9-8-7-6

29
28

CLASSEG-7-8-9

CLASSE 6 CLASSE10-8 CLASSE10-9-8-7-6

RA1102

Positions without LF code no.: upon request




Py

RANCILIO w3
GroUD,
Position LF code no. Description
1 1348855 STEAM/WATER TAP
3 1186810 FLAT COPPER GASKET @ 24x21x1 mm
4 1528019 NUT WITH GASKET
5 1324078 TAP ROD
6 1250026 SPRING @ 12x31 mm
7 1250027 SPRING GUIDE
8 1186803 O-RING 02037 EPDM
9 1348046 TAP PIN
10 1348045 TAP BUSHING
11 1528020 WASHER FLAT LARGE M8
12 1186443 PTFE FLAT GASKET @ 18x9x0.5 mm
13 1348326 SPRING RING RADIAL g 7 mm
14 1449804 NUT @ 3/8"F H4 SPANNER 19
17 1186805 O-RING 0115 EPDM
18 1250151 SPRING @ 12x15 mm FOR STEAM PIPE
19 1186670 STEAM PIPE ARTICULATION BUSHING @ 12x5mm
20 1186201 GASKET FLAT PTFE 2 21x16.8x2 mm
21 1241048 STEAM TAP KNOB
22 1250820 STEAM HANDLE SPRING
23 1241046 WATER/STEAM TAP KNOB
24 1449811 COMPLETE STEAM PIPE
24 1449865 STAINLESS STEEL STEAM PIPE COMPLETE
26 1449053 COMPLETE WATER PIPE
27 5057551 PIN FOR TAP
28 5062752 KNOB WATER TAP
29 5056833 KNOB STEAM TAP
30 1449863 STEAM PIPE COMPLETE STAINLESS STEEL g 10




v/
% RANCILIO

WATER-STEAM TAP CLASSE10-9-8-7-6

CLASSE10-CLASSE9-CLASSES-CLASSE7-CLASSES-EPOCA

et Raa ~ 100 s 1200 ‘= [300 $2= (400
~ 1101 = (500 - |301 s 1401
_ - 102 o [202) | rom 302 s 1402
| sam |103 e [203) | 8 o 13030 | L 7| 2% (403
s |04 S 1204 [ (304 | L. | 2™, (404
1,100 4 LEL - 1,500 1500
L e I e I e I
RA1202

Positions without LF code no.: upon request



977 ¢

4 ar% b — @
RANCILIO *’2’
Position LF code no. Description
2 1186810 FLAT COPPER GASKET @ 24x21x1 mm
4 1528019 NUT WITH GASKET
5 1186175 BLIND GASKET @ 13x4 mm
6 1324078 TAP ROD
7 1250026 SPRING @ 12x31 mm
8 1250027 SPRING GUIDE
9 1186803 O-RING 02037 EPDM
11 1548054 BUSHING TAP RH
11 1548055 BUSHING TAAP LH
12 1548054 BUSHING TAP RH
12 1548055 BUSHING TAAP LH
14 1528020 WASHER FLAT LARGE M8
15 1348326 SPRING RING RADIAL g 7 mm
16 1186443 PTFE FLAT GASKET @ 18x9x0.5 mm
17 5033627 QUICK LEFT STEAM TAP WITH VENTING
18 5033628 QUICK RIGHT STEAM TAP WITH VENTING
20 5033626 STEAM TAP KNOB
21 1186201 GASKET FLAT PTFE 2 21x16.8x2 mm
22 1250224 SPRING @ 12x12 mm
23 1186793 CONICAL PTFE SEAL @ 12x6.5 mm
24 1186794 PTFE FLAT GASKET @ 14.6x12x3 mm
25 1186180 BURN PREVENTING RUBBERPIECE g 10 mm
29 1449863 STEAM PIPE COMPLETE STAINLESS STEEL @ 10
30 1449804 NUT o 3/8"F H4 SPANNER 19
33 1186201 GASKET FLAT PTFE 2 21x16.8x2 mm
34 1250224 SPRING @ 12x12 mm
35 1186793 CONICAL PTFE SEAL g 12x6.5 mm
37 1449053 COMPLETE WATER PIPE
50 1394553 ANALOGICAL THERMOMETER @ 25 mm
51 1394554 ANALOG THERMOMETER @ 45 mm
103 1024051 SERVING COFFEE POT PRATIKA 0.60 L
104 1024052 SERVING COFFEE POT PRATIKA 0.70 L
200 1024001 MILK PITCHER PRATIKA 0.20 L
201 1024002 MILK PITCHER PRATIKA 0.30 L
202 1024003 MILK PITCHER PRATIKA 0.45 L
203 1024004 MILK PITCHER PRATIKA 0.60 L
204 1024005 MILK PITCHER PRATIKA 0.70 L
205 1024006 MILK PITCHER PRATIKA 1.10 L
300 1224900 MILK PITCHER 0.10L
302 1224901 MILK JUG 0.35 L
303 1224902 MILK JUG 0.60 L
304 1224903 MILK JUG 1L
305 1224904 MILK JUG 1.5 L
400 1224014 MILK PITCHER EUROPA WITH SPOUT 0.25 L
401 1224015 MILK PITCHER EUROPA WITH SPOUT 0.35 L
402 1224010 MILK PITCHER EUROPA WITH SPOUT 0.50 L
403 1224011 MILK PITCHER EUROPA WITH SPOUT 0.75 L
404 1224012 MILK PITCHER EUROPA WITH SPOUT 1L
405 1224013 MILK PITCHER EUROPA WITH SPOUT 1.5 L




% RANCILIO

WATER INLET TAP

Z11 - 820 - MILLENIUM - CLASSE 10 42

27
MILLENIUM
CLASSE 10

23
Z1 - SED_

RA2002

Positions without LF code no.: upon request




Py

RANCILIO w3
GroUD,
Position LF code no. Description
3 1348817 CIRCLIP RADIAL g 4 mm
8 1250816 CAP SPRING @ 12x22 mm
10 1348814 TOOTHED WASHER EXT. M4
11 1348813 HEXAGONAL NUT M4 MEDIUM
12 1349038 TAP PIN
13 1348826 LIP SEAL @ 15x9x4.5 mm
14 1186810 FLAT COPPER GASKET @ 24x21x1 mm
18 1186311 NBR FLAT GASKET g 13x4x4 mm
20 1348810 INLET TAP BODY
21 1348812 SPHERE MADE OF STAINLESS STEEL @ 9.52 mm
22 1348811 SPACER INLET TAP
23 1348807 WATER INLET TAP
24 1250819 VALVE SPRING @ 16x30 mm
25 1523802 COUPLING WITH FILTER @ 1/8"M-1/4"M
27 1348807 WATER INLET TAP
30 1186411 O-RING 02031 EPDM
32 1250040 SPRING @ 8x55 mm
33 1186620 COPPER FLAT GASKET @ 22x17x1.5 mm
34 1186454 FLAT EPDM GASKET @ 11x3.6x2 mm
37 1250030 SPRING @ 11x20 mm
40 1523009 EXPANSION VALVE g 3/8"M-1/4"M
41 1160012 FILTER g 11 mm
42 1250028 SPRING g 10x26 mm
46 1250819 VALVE SPRING g 16x30 mm
60 1449876 DRAIN PIPE g 3/4"F 1500 mm




RANCILIO
LEVELS
79 - Z11 - S20 - MILLENIUM

HAX

—13 —
MIN
Z11 - 820

—11

CLASSE 8 CLASSE 6

29

MILLENIUM

CLASSE 8 - CLASSE 6

] %@?

'\

RA2502

Positions without LF code no.:

upon request




RANCILIO

-
GroUD,
Position LF code no. Description

2 1348821 COPPER FLAT GASKET @ 15x10x1 mm
4 1186251 FLAT EPDM GASKET @ 18x12x3 mm
5 1186807 BRASS WASHER @ 18x13x0.5 mm FLAT
6 1250806 LEVEL SPRING @ 17.2x13 mm
8 1520561 LEVEL GLASS @ 12x140 mm
9 1323001 RED LEVEL BALL ¢ 5.8 mm

13 1341750 LEVEL PROBE @ 1/4"M-125 mm

13 1341802 LEVEL PROBE @ 1/8"M-115 mm

14 1201801 LEVEL/PRESSURE GAUGE COVER ML

15 1201585 LEVEL PLATE 90x50 mm

16 1449804 NUT o 3/8"F H4 SPANNER 19

18 1186314 PTFE FLAT GASKET g 22x17x2 mm

18 1186620 COPPER FLAT GASKET @ 22x17x1.5 mm

20 1449877 PTFE LEVEL GLASS @ 10x107 mm

21 1186803 O-RING 02037 EPDM

22 1390002 LEVEL CONTROL CIRCUIT BOARD

26 3221163 ORANGE LAMP RECEPTACLE

27 3221097 NEUTRAL INDICATOR LAMP 220V

29 1201007 LEVEL GAUGE PLATE 61x18 mm




o
=
O
=
<
o

BOILER Z11

RA3002

Positions without LF code no.: upon request



RANCILIO

-
GroUD,
Position LF code no. Description
1 1523651 BOILER VALVE @ 3/8"M
3 1186901 O-RING 02031 - RED SILICON
4 1186362 O-RING 02021 EPDM
5 1186620 COPPER FLAT GASKET @ 22x17x1.5 mm
7 1349351 NUT g 3/8"F H5 KEY 24 mm
9 1449055 INJECTION PIPE @ 1/4"M
10 1515110 BOILER VALVE ¢ 1/2"M 1.8bar CE-PED
11 1186823 COPPER FLAT GASKET @ 27x21.5x1 mm
12 1186801 BOILER GASKET @ 175x123x2 mm
15 1528026 CYLINDER HEAD SCREW M8x20
18 1186455 PTFE FLAT GASKET g 65x46x1,5 mm
18 3186011 FLAT CARBO GASKET @ 63x48x2 mm
19 1755182 HEATING ELEMENT 3000W 220/380V
19 1755183 HEATING ELEMENT 6000W 230/380V
19 1755777 HEATING ELEMENT 2700W 110V
19 3355454 HEATING ELEMENT 3900W 220V 6POLE
20 3444230 TWO-POLE THERMOSTAT 165°C
23 1186456 VITON O RING 06300
25 1184820 HEXAGON HEAD SCREW M6x25
29 1523051 BOILER VALVE @ 3/8"M




@k RANCILIO

BOILER S20

42—
S20 - 524
S26 - S27
MIDI - TECNA
) SYSTEM

y §20-MIDI\ _
TECNA 3
SYSTEM

i -
i
[
1
H
L}
L

- 5, ‘I
T ammrEzal ":.‘il .
NN EESE o
b Comemmmay O 4
P e L P

]
i ""h:l::;--"",.r"g
"

Ereaomm? S

36— 37

RA3102

Positions without LF code no.: upon request




RANCILIO ~5 0
GroUD, 4
Position LF code no. Description
1 1523534 BOILER VALVE @ 1/4"M
1 1523537 BOILER VALVE @ 1/4"M
1 1523651 BOILER VALVE @ 3/8"M
3 1186901 O-RING 02031 - RED SILICON
4 1186362 O-RING 02021 EPDM
5 1186620 COPPER FLAT GASKET @ 22x17x1.5 mm
8 1349351 NUT @ 3/8"F H5 KEY 24 mm
9 1341802 LEVEL PROBE @ 1/8"M-115 mm
10 1523700 NON-RETURN VALVE ¢ 1/8"M-1/8"M
13 1186620 COPPER FLAT GASKET @ 22x17x1.5 mm
14 1515110 BOILER VALVE @ 1/2"M 1.8bar CE-PED
15 1186823 COPPER FLAT GASKET @ 27x21.5x1 mm
16 1186801 BOILER GASKET @ 175x123x2 mm
17 1186808 BOILER GASKET @ 145x135x5 mm
20 1528026 CYLINDER HEAD SCREW M8x20
21 1186455 PTFE FLAT GASKET @ 65x46x1,5 mm
22 1186453 O-RING M 0500-40 RED SILICONE
23 1755182 HEATING ELEMENT 3000W 220/380V
23 1755777 HEATING ELEMENT 2700W 110V
23 3355453 HEATING ELEMENT 2100W 220V 6-POLE
23 3355454 HEATING ELEMENT 3900W 220V 6POLE
24 1449055 INJECTION PIPE @ 1/4"M
25 3444230 TWO-POLE THERMOSTAT 165°C
30 1444004 THREE-PHASE THERMOSTAT 187°C
31 1443002 CONTACT THERMOSTAT 165°C M4
34 1186612 O-RING 02025 VITON
36 1186449 BOILER GASKET @ 130x116x2 mm
37 1186806 SILICONE O-RING 04475
38 1186450 FLAT GASKET @ 32x26x1 mm
39 1186458 RED SILICONE RING 03050
41 1755801 HEATING ELEMENT 1700W 230V
42 1245900 BOILER PRESSURE GAUGE @ 52 mm 0+2.5 bar
43 1523051 BOILER VALVE g 3/8"M




c\]{
% RANCILIO

BOILER EPOCA-MILLENIUM

MILLENNIUM

RA3202

Positions without LF code no.: upon request




RANCILIO i,&a
@

LF code no. Description
1186801 BOILER GASKET @ 175x123x2 mm
1528026 CYLINDER HEAD SCREW M8x20
1320531 PRESSURE SWITCH P302/6 3-POLES 30A
1186455 PTFE FLAT GASKET g 65x46x1,5 mm
1755182 HEATING ELEMENT 3000W 220/380V
1755183 HEATING ELEMENT 6000W 230/380V
1755777 HEATING ELEMENT 2700W 110V

7 3355454 HEATING ELEMENT 3900W 220V 6POLE

10 3444230 TWO-POLE THERMOSTAT 165°C

11 1523651 BOILER VALVE @ 3/8"M

13 1186901 O-RING 02031 - RED SILICON

14 1186362 O-RING 02021 EPDM

15 1186620 COPPER FLAT GASKET @ 22x17x1.5 mm

17 1515110 BOILER VALVE g 1/2"M 1.8bar CE-PED

18 1186823 COPPER FLAT GASKET @ 27x21.5x1 mm

19 1341802 LEVEL PROBE @ 1/8"M-115 mm

20 1186620 COPPER FLAT GASKET @ 22x17x1.5 mm

21 1755048 HEATING ELEMENT 4300W 230/400V

22 1755186 COVER FOR HEATING ELEMENT M 10x1

23 1444005 BIPOLAR THERMOSTAT 165°

34 1186411 O-RING 02031 EPDM

35 1250030 SPRING @ 11x20 mm

36 1186620 COPPER FLAT GASKET @ 22x17x1.5 mm

37 1186454 FLAT EPDM GASKET @ 11x3.6x2 mm

38 1341801 TEMPERATURE PROBE g 3/8"M

39 1186346 O-RING 02043 EPDM

42 1515110 BOILER VALVE @ 1/2"M 1.8bar CE-PED

42 1523029 BOILER VALVE @ 3/8"M - 1.6 bar CE/PED

44 1523651 BOILER VALVE g 3/8"M

48 1349351 NUT g 3/8"F H5 KEY 24 mm

49 1449804 NUT @ 3/8"F H4 SPANNER 19

55 1349111 FITTING @ 1/8"M 1/4"M

56 1186619 COPPER FLAT GASKET o 18x14x1.5 mm

57 1455026 VOLUMETRIC FLOW METER GICAR

58 1245900 BOILER PRESSURE GAUGE g 52 mm 0+2.5 bar

59 1245013 BOILER-PUMP PRESSURE GAUGE g 63 mm

61 1523051 BOILER VALVE g 3/8"M




;;g,& RANCILIO

BOILER CLASSE 10

Positions without LF code no.: upon request




RANCILIO ~5 0
GroUD, 4
Position LF code no. Description

1 1186801 BOILER GASKET @ 175x123x2 mm

4 1528026 CYLINDER HEAD SCREW M8x20

5 1186455 PTFE FLAT GASKET @ 65x46x1,5 mm

6 1755048 HEATING ELEMENT 4300W 230/400V

6 1755049 HEATING ELEMENT 6000W 230V

6 1755182 HEATING ELEMENT 3000W 220/380V

7 1755186 COVER FOR HEATING ELEMENT M 10x1

8 1186201 GASKET FLAT PTFE 2 21x16.8x2 mm
10 1444004 THREE-PHASE THERMOSTAT 187°C
12 1120279 SOLENOID VALVE ODE 2 WAYS 110/120V 15VA
12 1120331 2-WAY SOLENOID VALVE LUCIFER 240V 50Hz
13 1184006 LOW CYLINDER HEAD SCREW M4x12
14 1186611 O-RING 02025 RED SILICONE
14 1186612 O-RING 02025 VITON
27 1527812 DRAIN TUB NSF
28 3523086 NUT o 3/4"
29 1245012 PUMP PRESSURE GAUGE @ 41 mm 0+16 bar
30 1245014 BOILER PRESSURE GAUGE @ 40 mm 0+2.5 bar
30 1245023 BOILER PRESSURE GAUGE @ 40 mm 0+2.5 bar
31 1341801 TEMPERATURE PROBE g 3/8"M
32 1186346 O-RING 02043 EPDM
33 1523029 BOILER VALVE ¢ 3/8"M - 1.6 bar CE/PED
33 1523059 BOILER VALVE ¢ 3/8"M - 1.8 bar CE/PED
34 1186314 PTFE FLAT GASKET @ 22x17x2 mm
34 1186394 ASBESTOS FREE FLAT GASKET @ 22x17x2 mm
36 1186620 COPPER FLAT GASKET @ 22x17x1.5 mm
37 1341802 LEVEL PROBE @ 1/8"M-115 mm
39 1186620 COPPER FLAT GASKET @ 22x17x1.5 mm
41 1449055 INJECTION PIPE @ 1/4"M
46 1449804 NUT @ 3/8"F H4 SPANNER 19
48 1455026 VOLUMETRIC FLOW METER GICAR
52 5031294 PRESSURE SWITCH 2T85 0-4 BAR 3/8"
53 1330030 ROTARY VANE PUMP ROTOFLOW g 3/8" GAS
53 1330900 ROTARY VANE PUMP NUERT g 3/8" GAS
55 3068014 CAPACITOR DUCATI ENERGIA 8uF




% RANCILIO

HOUSEHOLD LINE

SILVIA - NANCY - AUNDREY

BETSY - FANTASY

Positions without LF code no.: upon request




RANCILIO i,&a
@
Position LF code no. Description
1 1443206 CONTACT THERMOSTAT 100°C
2 1444007 CONTACT THERMOSTAT 140°C 10A 250V
3 1443002 CONTACT THERMOSTAT 165°C M4
4 1528023 COUNTERSUNK FLAT HEAD SCREWS M5x16
6 1186457 RED SILICONE O RING 0177
8 1186811 COPPER FLAT GASKET @ 10x6x1 mm
9 1184804 CYLINDER HEAD SCREW M6x8
10 1186611 O-RING 02025 RED SILICONE
10 1186612 O-RING 02025 VITON
11 1184006 LOW CYLINDER HEAD SCREW M4x12
12 1186452 FILTER HOLDER GASKET @ 74x58x8.2 mm
12 5012498 GASKET FILTER HOLDER @ 74x58x8.2 mm
13 1120102 3-WAY SOLENOID VALVE LUCIFER 115V 60Hz
13 1120330 3-WAY SOLENOID VALVE LUCIFER 240V 50Hz
14 1349803 BREW GROUP SPRAY NOZZLE g 21 mm
15 1081036 SHOWER @ 57.5 mm
15 1081536 SHOWER SCREEN g 57.5 mm
16 1528516 CYLINDER HEAD SCREW M5x12
17 1349037 DRAIN PIPE
18 1160251 1CUPFILTER 6 g
19 1160252 FILTER 2-CUP 12 g
28 1186803 O-RING 02037 EPDM
29 1186612 O-RING 02025 VITON
32 1186822 VITON FLAT GASKET g 13x4x4 mm
34 1186620 COPPER FLAT GASKET @ 22x17x1.5 mm
47 1122737 VIBRATORY PUMP EP5 48W 230V 50Hz
47 2102265 VIBRATION PUMP EP5 41W 120V 60Hz
48 1755046 HEATING ELEMENT 1100W 230V
49 5031156 BOILER WITH HEATING ELEMENT 230V 1100W
54 3060608 O-RING 03050 EPDM
76 1186346 O-RING 02043 EPDM
78 1186421 O-RING 02018 EPDM
83 1186612 O-RING 02025 VITON
84 1449141 CHROME-PLATED COMPLETE STEAM PIPE ¢ 6 mm
90 1165030 2 CUPS FILTER HOLDER ASSEMBLY RANCILIO
91 5030150 STEAM TAP KNOB
92 3320500 PRESSURE SWITCH 1 LEVEL




\/
% RANCILIO

HOUSEHOLD LINE NEW

SILVIA

8.—38 44 P46
' 39 .éh =
o
g J @—50
e — ip:
58—

40 41 42

RA4102

Positions without LF code no.: upon request




RANCILIO %&a
@
Position LF code no. Description
2 5023308 WATER CONTAINER
6 5055880 KNOB STEAM TAP
8 1319806 BLACK BIPOLAR SWITCH 16A 250V
9 1319809 BLACK BIPOLAR SWITCH 16A 250V
10 1319862 BLACK BIPOLAR SWITCH 16A 250V
13 1186611 O-RING 02025 RED SILICONE
13 1186612 O-RING 02025 VITON
15 1349037 DRAIN PIPE
16 5057855 RING GROUP COVER
17 1086014 SHOWER HOLDER DIFFUSER
18 1186452 FILTER HOLDER GASKET @ 74x58x8.2 mm
18 5012498 GASKET FILTER HOLDER @ 74x58x8.2 mm
19 1349803 BREW GROUP SPRAY NOZZLE @ 21 mm
20 1081036 SHOWER @ 57.5 mm
20 1081536 SHOWER SCREEN @ 57.5 mm
21 1528012 CYLINDER HEAD SCREW M5x14
22 1250101 FILTER BLOCKING SPRING @ 1,00 mm INOX
23 1165046 FILTER HOLDER RANCILIO
24 1141012 KNOB FILTER HOLDER
26 1022524 DOUBLE SPOUT g 3/8"
27 1160251 1 CUPFILTER 6 g
28 1160252 FILTER 2-CUP 12 g
29 1165030 2 CUPS FILTER HOLDER ASSEMBLY RANCILIO
32 1186620 COPPER FLAT GASKET @ 22x17x1.5 mm
33 1186822 VITON FLAT GASKET @ 13x4x4 mm
34 1186612 O-RING 02025 VITON
37 1186201 GASKET FLAT PTFE @ 21x16.8x2 mm
38 1186793 CONICAL PTFE SEAL @ 12x6.5 mm
38 1250224 SPRING @ 12x12 mm
39 1549057 HOSE STEAM COMPLETE CHROME-PLATED @ 10mm
41 1349651 PIPETTE FITTING 90° EX EP
42 1122737 VIBRATORY PUMP EP5 48W 230V 50Hz
42 2102265 VIBRATION PUMP EP5 41W 120V 60Hz
45 5031156 BOILER WITH HEATING ELEMENT 230V 1100W
45 5055573 BOILER WITH HEATING ELEMENT 110V 1100W
49 1186457 RED SILICONE O RING 0177
50 1443002 CONTACT THERMOSTAT 165°C M4
52 5031156 BOILER WITH HEATING ELEMENT 230V 1100W
52 5055573 BOILER WITH HEATING ELEMENT 110V 1100W




‘\}{ 0
% RANCILIO

ELECTRICAL PARTS Z211-S20

YKy

RAS5002

Positions without LF code no.: upon request




RANCILIO w3
GroUD,
Position LF code no. Description

1 1201585 LEVEL PLATE 90x50 mm

3 1527004 DRAIN TANK

5 3449462 HOSE CLAMP 12-20

6 1449671 DRAIN PIPE ELISPIR g 14x20 mm - 5 m

7 1221801 GREEN INDICATOR LAMP 230V

8 1241821 SELECTOR SWITCH KNOB g 42 mm

9 1313803 FOOT @ 63 mm M10 H=45
11 1319807 SELECTOR SWITCH 0-2 POSITIONS 32A 600V
12 1245651 BOILER-PUMP PRESSURE GAUGE g 63 mm
14 1319047 SELECTOR SWITCH 0-1 POSITIONS 20A 500V
15 1241821 SELECTOR SWITCH KNOB @ 42 mm
17 1319806 BLACK BIPOLAR SWITCH 16A 250V
18 1319805 BLUE BIPOLAR SWITCH 16A 250V
19 3351601 RELAY B1-3 16A 230V 50/60Hz
22 1319803 PUSH-BUTTON PANEL 5 BUTTONS
25 1341301 LEVEL ADJUSTER NRL30/1E-2C/F 230V
25 5056960 LEVEL REGULATOR NRL30/1E-2C/F 115V
26 1341631 DOSER CONTROL BOX 30/1GR/F 230V 50Hz
27 1319862 BLACK BIPOLAR SWITCH 16A 250V
29 1319809 BLACK BIPOLAR SWITCH 16A 250V




RANCILIO

ELECTRICAL PARTS MILLENNIUM

RA5102

Positions without LF code no.: upon request




RANCILIO

Position LF code no. Description
2 1185811 CUP WARMING GRID
8 1201801 LEVEL/PRESSURE GAUGE COVER ML
14 1313803 FOOT @ 63 mm M10 H=45
17 1319862 BLACK BIPOLAR SWITCH 16A 250V
18 1319806 BLACK BIPOLAR SWITCH 16A 250V
19 1319859 BIPOLAR SWITCH 16A 250V
20 1319860 BIPOLAR SWITCH 16A 250V




& RANCILIO

ELECTRICAL PARTS EPOCA-CLASSE10

CLASSE 10 CLASSE 10

Positions without LF code no.: upon request




) RANCILIO w3
GroUD,
Position LF code no. Description
1 5044894 PUSH-BUTTON PANEL 5 BUTTONS
3 1319115 PUSH-BUTTON PANEL 1 BUTTON
6 5039870 RING GROUP COVER
9 1313802 FOOT @ 40 mm M8 H=31
10 1319865 BLACK BIPOLAR SWITCH 16A 250V
12 1319114 PUSH-BUTTON PANEL 5 BUTTONS
13 1319113 PUSH-BUTTON PANEL 5 BUTTONS
14 1201007 LEVEL GAUGE PLATE 61x18 mm
17 1319105 PUSH-BUTTON PANEL 3 BUTTONS
19 5049270 GRID CUP SUPPORT PLASTIC
20 5024358 CONTROL PANEL GRAY
20 5039042 CONTROL PANEL RED




.y RANCILIO

Suitable for: Suitable for:

Axial motors

1240199 AXIALFAN 60x60x25 mm 24VDC
24VDCO0.08A 1.2W 2500rpm - with bushing
for Coffee machine (RANCILIO) CLASSES8

RANCILIO 10110471

Bearings

1063911 BEARING 6202 ZZ NSK
external @ 35 mm-internal @ 15 mm-thickness 11 mm
for Coffee machine (RANCILIO) CLASSE6 - CLASSE7
S10-711-79

RANCILIO 44015010

Bodies
1002003 GROUP COVERING RING 5039870 RING GROUP COVER
for Coffee machine (RANCILIO) CLASSE10 - CLASSE6 for Coffee machine (RANCILIO) EPOCA - EPOCA NEW
CLASSES8
/*:&\
)
RANCILIO 21300760 RANCILIO 21300741 RANCILIO 38123870
5057855 RING GROUP COVER 5059967 RING GROUP COVER
for Coffee machine (RANCILIO) SILVIA NEW for Coffee machine (RANCILIO) CLASSE7
\ |
RANCILIO 38123549 RANCILIO 21300790 RANCILIO 38123945
5057912 SIDE GRAY METALLICLH 5057913  SIDE GRAY METALLICRH

RANCILIO 38123754B RANCILIO 381237538



Suitable for:

RANCILIO

Suitable for:

Boiler safety valves

1515110 BOILER VALVE ¢ 1/2"M 1.8bar CE-PED

calibration pressure 1.8 bar
steam outlet capacity 6.3 Kg/h

S

RANCILIO 10060511 RANCILIO 10060512

1523534  BOILER VALVE ¢ 1/4"M

stainless steel - new model
internal PTFE coating - or viton

RANCILIO 10060055

1523537 BOILERVALVE ¢ 1/4"M
stainless steel - old model
orviton

RANCILIO

1523051  BOILER VALVE ¢ 3/8"M

RANCILIO

1523651 BOILER VALVE ¢ 3/8"M

RANCILIO 10060050 RANCILIO 10060059 RANCILIO 10060061

1523029  BOILER VALVE ¢ 3/8"M - 1.6 bar CE/PED
calibration pressure 1.6 bar
steam outlet flowrate 77 Kg/h
viton seal
operating temperature -20/+200°C
CE/PED certified valve
for Coffee machine (RANCILIO) EPOCA

RANCILIO 10060514 RANCILIO 10060527

1523059 BOILER VALVE ¢ 3/8"M - 1.8 bar CE/PED
calibration pressure 1.8 bar
steam outlet flowrate 87 Kg/h
viton seal
operating temperature -20/+200°C
CE/PED certified valve

RANCILIO

1515025 BOILER VALVE ¢ 3/8"M - 1.9 bar CE/PED
calibration pressure 1.9 bar
steam outlet flow rate 87 Kg/h
viton seal
operating temperature -20/+200°C
CE/PED certified valve
for Coffee machine (RANCILIO) CLASSE10 - CLASSE11
CLASSE6 - CLASSEGLEVA - CLASSE7 - CLASSE7LEVA
CLASSES8 - CLASSE9 - EPOCA NEW

RANCILIO 10060525



/

N

)| }/‘(‘
o RANCILIO
Suitable for: Suitable for:
Boilers
5055573 BOILER WITH HEATING ELEMENT 110V 1100W 5031156  BOILER WITH HEATING ELEMENT 230V 1100W
for Coffee machine (RANCILIO) SILVIA for Coffee machine (RANCILIO) SILVIA
A4

RANCILIO 10705636 RANCILIO 20102943 RANCILIO 20102945

RANCILIO 10705397
RANCILIO 20102946

RANCILIO 10705637 RANCILIO 20102944

Booster pumps

1330900 ROTARY VANEPUMP NUERT ¢ 3/8" GAS
clamp connection
flowrate 200 L/h
equipped with balanced bypass
fitting @ 3/8" GAS
pressure gauge connection g 1/8"F
NSF approved

RANCILIO 10705960

1330012 ROTARY VANEPUMP PROCON ¢ 3/8" NPT
clamp connection
flow rate 200 I/h
equipped with balanced bypass
connection ¢ 3/8" conical NPT
NSF approved

RANCILIO 69000039

1168011  STAINLESS STEEL CLAMP FOR FLANGE PUMP

RANCILIO

1330030 ROTARY VANEPUMP ROTOFLOW ¢ 3/8" GAS
clamp connection
flowrate 200 L/h
with balanced by-pass
coupling @ 3/8" GAS with nose cap strike
N.S.F. approved

for Coffee machine (RANCILIO) CLASSE10 - CLASSE6

CLASSE7 - CLASSES8 - CLASSE9 - EPOCA

RANCILIO 10705960 RANCILIO 69000993

1349103  FITTING ¢ 3/8"M-3/8"M

RANCILIO 23217019




RANCILIO %

Suitable for: Suitable for:

1168011 STAINLESS STEEL CLAMP FOR FLANGE PUMP

RANCILIO

1330002 ROTARY VANEPUMP ROTOFLOW ¢ 3/8" NPT 1168011  STAINLESS STEEL CLAMP FORFLANGE PUMP
clamp connection
flowrate 200 L/h
equipped with balanced bypass
NSF - WRAS approved
PA204

RANCILIO 69000266 RANCILIO

1330101 ROTARY VANEPUMP ROTOFLOW ¢ 3/8" NPT 1168011  STAINLESS STEEL CLAMP FORFLANGE PUMP
flange connection
flowrate 100 L/h
with balanced by-pass
fitting @ 3/8" conical NPT
N.S.F. approved
PUMP VERSION ECO-BRASS
BRASS CW510L LEAD <=0.2%

RANCILIO RANCILIO

1330102 ROTARY VANEPUMP ROTOFLOW ¢ 3/8" NPT 1168011  STAINLESS STEEL CLAMP FORFLANGE PUMP
flange connection
flowrate 200 L/h
with balanced by-pass
fitting @ 3/8" conical NPT
N.S.F. approved
PUMP VERSION ECO-BRASS
BRASS CW510L LEAD <=0.2%

RANCILIO RANCILIO



/

N

)| ‘/‘ﬁ

’ RANCILIO

Suitable for: Suitable for:
Brushes

1384023 BRUSH FORCLEANING 50 mm 1384001 BRUSHFORCOFFEE SHOWER
RANCILIO RANCILIO RANCILIO 38120068
1384002 BRUSH FORMAINTENANCE 1384014 BRUSH FORSHOWER RED
RANCILIO RANCILIO

Capacitors, electrical

3068016 CAPACITORDUCATIENERGIA 10pF
450V 50/60Hz
operating temperature -25 + 85°C
lead connector 6.35x0.8 mm
@ 36xh58 mm

RANCILIO 34020003 RANCILIO 65206002

3068019

CAPACITORDUCATIENERGIA 12,5pF
450V 50/60Hz

operating temperature -25 + 85°C
lead connection 6.35x0.8 mm

@ 36xh70 mm

RANCILIO 34020004

3068024 CAPACITORDUCATIENERGIA 16pF
450V 50/60Hz
operating temperature -25 + 85°C
lead connector 6.35x0.8 mm
@ 36xh70 mm

RANCILIO 65206004

RANCILIO 34020016

3068003

CAPACITORDUCATIENERGIA 3pF
450V 50/60Hz

operating temperature -25 + 85°C
lead connection 6.35x0.8 mm

@ 28xh55 mm

image of
selected item
not
available

RANCILIO 65206010

3068008 CAPACITORDUCATIENERGIA 5pF
450V 50/60Hz
operating temperature -25 + 85°C
lead connection 6.35x0.8 mm

@ 28xh55 mm
\\/ -
'l & Y
S3e8 .i}-‘

RANCILIO 65206010

3068010

CAPACITORDUCATIENERGIA 6,3puF
450V 50/60Hz

operating temperature -25 + 85°C
lead connection 6.35x0.8 mm

@ 32xh55 mm

RANCILIO 65206009




RANCILIO
Suitable or: Suitable for:
3068014 CAPACITORDUCATIENERGIA 8pF 3068080 CAPACITORELECTRICAL 10pF

450V 50/60Hz

operating temperature -25 + 85°C
lead connection 6.35x0.8 mm

¢ 32xh55 mm

RANCILIO 34020020

450V 50/60Hz - 6 30xh71 mm

by
&
"

4

RANCILIO 34020003 RANCILIO 65206002

3068081 CAPACITORELECTRICAL 12.5pF
450V 50/60Hz - ¢ 35xh71 mm

&
o
!

RANCILIO 34020004

3068083  CAPACITORELECTRICAL 16pF
450V 50/60Hz - ¢ 35xh71 mm

L")

RANCILIO 34020016 RANCILIO 65206004

3068096 CAPACITORELECTRICAL 5pF
450V 50/60Hz - @ 30xh51 mm

&
o

RANCILIO 65206010

3068097 CAPACITORELECTRICAL 6.3pF
450V 50/60Hz - ¢ 30xh51 mm

RANCILIO 65206009

3068079 CAPACITORELECTRICAL 8pF
450V 50/60Hz - ¢ 30xh71 mm

RANCILIO 34020020

Caps

1439028 CAP ¢ 18 mm FOR BREW GROUP

for Coffee machine (RANCILIO) CLASSET10 - CLASSE11
CLASSEG6 - CLASSE7 - CLASSES8 - CLASSE9 - EPOCA

RANCILIO 20122652 RANCILIO 20122653



(\» | / )(:

4 RANCILIO
Suitable for: Suitable for:
Circlips
1242654 CIRCLIPE/15 1348817  CIRCLIPRADIALg4mm
UNI 7435 - DIN 471 stainless steel- outer g 9.3 mm - thickness 0.7 mm

UNI 7434 - DIN 6799

RANCILIO 37521500 RANCILIO 37510400
1250023 RADIAL SEEGER RING ¢ 5 mm 1348326  SPRING RING RADIALg 7 mm
stainless steel - external ¢ 11.3 - thickness 0.7 in zinc plated iron alloy
UNI 7434 - DIN 6799 external @ 14.3 mm - thickness 0.9 mm

UNI 7434 - DIN 6799

RANCILIO 37510500 RANCILIO 37510700
Clamps
3449402 DOUBLE-WIRE CLAMP 7.8-8.3-100 PCS 3449462 HOSE CLAMP 12-20
for hoses 9 7.8+8.3 mm for pipes @ 1220 mm

made of stainless steel AISI 304
height 9 mm and screw E7
suitable for food industry

RANCILIO 65423011 RANCILIO 69000081

1168011 STAINLESS STEEL CLAMP FOR FLANGE PUMP

RANCILIO

Coffee filters

1160504 2 CUPSPOD FILTER

RANCILIO




RANCILIO %
Suitable or: Suitable for:
Coffee filters
1160607 ADAPTERFILTER F/COFFEEPODS EP RANCILIO 1165187 BOTTOMLESS FILTERHOLDER RANCILIO
for bottomless filter holders specifically used wings 6.2 mm
for the machine type
food-safe certified
for Coffee machine (RANCILIO)
RANCILIO RANCILIO
1160600 ADAPTERFILTER FOREP CAPSULES 1160339  BLIND FILTER670x17 mm
to match with the machine-brand specific for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
bottomless filter holder CLASSE7 - CLASSES8 - CLASSE9 - EPOCA
food-safe certification SILVIANEW -S20 - 711
for MODEL E61 GROUPS
RANCILIO RANCILIO 40100105
1160252 FILTER 2-CUP12¢g 1160529  FILTER 2-CUP 14 ¢
for Coffee machine (RANCILIO) CLASSE10 - CLASSE6 for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
CLASSE7 - CLASSES8 - CLASSE9 - EPOCA CLASSE7 - CLASSES8 - CLASSE9 - EPOCA
MILLENNIUM - SILVIA NEW -S20 - 711 MILLENNIUM - SILVIA NEW - S20 - 711
RANCILIO RANCILIO 40100010 RANCILIO 40100102
5071383 FILTRO CAPSULE EP-FAP SUPER EMULSIONE 1160293  MEMBRANE BLIND FILTER

RANCILIO

adattatore per capsule singola dose

completo di valvola interna a pressione

per rendere cremoso il prodotto in tazza

da abbinare al portafiltro senza fondo specifico
per la marca della macchina

adattabile per macchine ASTORIA/CMA-BEZZERA
BRASILIA-CIMBALI-MAGISTER-MARZOCCO-NUOVA
SIMONELLI

PROMAC-RANCILIO-VICTORIA ARDUINO

=

s

RANCILIO 38123057




o RANCILIO

Suitable for: Suitable for:

1460100 PRECISION FILTER 1 CUP 6/8 g H24.5 1460101  PRECISION FILTER 1 CUP 7/9 g H26.5
round holes with conical section round holes with conical section
Aisi 304 stainless steel - food-safe certified Aisi 304 stainless steel - food safe certified
matching tamper ¢ 58 mm matching tamper ¢ 58 mm
for COFFEE MACHINES ASTORIA-CASADIO-CONTI-ELEKTRA for GROUP E61 ASCASO-BEZZERA-BFC-BIANCHI
FRACINO-KEESVANDERWESTEN-MAGISTER-MARZOCCO BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC
N.SIMONELLI-PAVONI-PROMAC-RANCILIO-SLAYER-SYNESSO IBERITAL-LANUOVAERA-LASCALA-L'ORCHESTRALE
VICTORIA ARDUINO QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA
for GROUPS E61 ASCASO-BEZZERA-BFC-BIANCHI VIBIEMME-WEGA
BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC for Coffee machine (RANCILIO)
IBERITAL-LANUOVAERA-LASCALA-ORCHESTRALE
QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA
VIBIEMME-WEGA

RANCILIO RANCILIO

1460102 PRECISION FILTER 2 CUPS 12/18 g H24.5 1460103  PRECISION FILTER 2 CUPS 14/20 g H26.5
round holes with conical section round holes with conical section
Aisi 304 stainless steel - food safe certified Aisi 304 stainless steel - food safe certified
matching tamper ¢ 58 mm matching tamper ¢ 58 mm
for GROUP E61 ASCASO-BEZZERA-BFC-BIANCHI for GROUP E61 ASCASO-BEZZERA-BFC-BIANCHI
BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC
IBERITAL-LANUOVAERA-LASCALA-L'ORCHESTRALE IBERITAL-LANUOVAERA-LASCALA-L'ORCHESTRALE
QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA
VIBIEMME-WEGA VIBIEMME-WEGA
for Coffee machine (RANCILIO) for Coffee machine (RANCILIO)

RANCILIO RANCILIO

1460104 PRECISION FILTER 2 CUPS 18/22 g H28,5 1460400  PRECISION FILTER 2T 12/18 g H24

RANCILIO

round holes with conical section

Aisi 304 stainless steel - food safe certified

matching tamper ¢ 58 mm

for GROUP E61 ASCASO-BEZZERA-BFC-BIANCHI
BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC
IBERITAL-LANUOVAERA-LASCALA-L'ORCHESTRALE
QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA
VIBIEMME-WEGA

for Coffee machine (RANCILIO)

RANCILIO

ultrafine model

circular holes with conical section

Aisi 304 steel - food-safe certified

9 58 mm suitable tamper

for COFFEE MACHINES: ASTORIA-CASADIO-CONTI-ELEKTRA
FRACINO-KEESVANDERWESTEN-MAGISTER-MARZOCCO
N.SIMONELLI-PAVONI-PROMAC-RANCILIO-SLAYER-SYNESSO
VICTORIA ARDUINO

for GROUPS: E61 ASCASO-BEZZERA-BFC-BIANCHI
BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC
IBERITAL-LANUOVAERA-LASCALA-ORCHESTRALE
QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA
VIBIEMME-WEGA




Suitable for: Suitable for:

1460401 PRECISION FILTER 2T 14/20 g H26 1460402  PRECISION FILTER 2T 18/22 g H28
ultrafine model ultrafine model
circular holes with conical section circular holes with conical section
Aisi 304 steel - food-safe certified Aisi 304 steel - food-safe certified
¢ 58 mm suitable tamper ¢ 58 mm suitable tamper
for COFFEE MACHINES: ASTORIA-CASADIO-CONTI-ELEKTRA for COFFEE MACHINES: ASTORIA-CASADIO-CONTI-ELEKTRA
FRACINO-KEESVANDERWESTEN-MAGISTER-MARZOCCO FRACINO-KEESVANDERWESTEN-MAGISTER-MARZOCCO
N.SIMONELLI-PAVONI-PROMAC-RANCILIO-SLAYER-SYNESSO N.SIMONELLI-PAVONI-PROMAC-RANCILIO-SLAYER-SYNESSO
VICTORIA ARDUINO VICTORIA ARDUINO
for GROUPS: E61 ASCASO-BEZZERA-BFC-BIANCHI for GROUPS: E61 ASCASO-BEZZERA-BFC-BIANCHI
BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC
IBERITAL-LANUOVAERA-LASCALA-ORCHESTRALE IBERITAL-LANUOVAERA-LASCALA-ORCHESTRALE
QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA
VIBIEMME-WEGA VIBIEMME-WEGA

- v )

RANCILIO RANCILIO

1460301 1 CUPFILTER "THE SINGLE" 9.5 g H21 mm 1460300 1 CUPFILTER "THE SINGLE"7.5g H19.5mm
realized to obtain the best coffee extraction, realized to obtain the best coffee extraction,
its rounded shape ensures a uniform brewing its rounded shape ensures a uniform brewing
from the coffee pod. from the coffee pod.

3

RANCILIO RANCILIO

1160251 1CUPFILTERG g 1160530 1 CUPFILTER7 gr
for Coffee machine (RANCILIO) CLASSE10 - CLASSE6 for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
CLASSE7 - CLASSES8 - CLASSE9 - EPOCA CLASSE7 - CLASSES8 - CLASSE9 - EPOCA
MILLENNIUM - SILVIA NEW -S20 - 711 MILLENNIUM - SILVIA NEW -S20 - 711

RANCILIO 40100005 RANCILIO 40100001 RANCILIO 40100101

1160503 1 CUPPOD FILTER 1460302  1CUPFILTER "THE SINGLE" 12 g H22.5 mm

RANCILIO RANCILIO

realized to obtain the best coffee extraction,
its rounded shape ensures a uniform brewing
from the coffee pod.




RANCILIO

Suitable for: Suitable for:

1160053 2 CUPSFILTER 14 gr 1160345 2 CUPSFILTER 18 gr
for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
CLASSE7 - CLASSES8 - CLASSE9 - EPOCA
MILLENNIUM - SILVIA NEW - S20 - Z11

RANCILIO 40100090 RANCILIO 40100103 RANCILIO 40100096

Coffee groups

1349037 DRAIN PIPE
for brew group
for Coffee machine (RANCILIO) CLASSE10 - CLASSE11
CLASSE6 - CLASSE7 - CLASSES8 - CLASSE9 - EPOCA

RANCILIO 10090001 RANCILIO 10090002 RANCILIO 10090017
RANCILIO 10090018 RANCILIO 38123077

Coffee measuring spoons

1069001 PLASTIC MEASURING SPOON 20 ml 1069002  STAINLESS STEEL MEASURING SPOON 20 m|

RANCILIO 38120004 RANCILIO
Contact thermostats
1443206 CONTACT THERMOSTAT 100°C 1444007 CONTACT THERMOSTAT 140°C 10A 250V
for Coffee machine (RANCILIO) AUDREY - NANCY for Coffee machine (RANCILIO) AUDREY - NANCY
SILVIA SILVIA

RANCILIO 34200056 RANCILIO 34200059 RANCILIO 34200055




RANCILIO

Suitable for:

Suitable for:

CONTACT THERMOSTAT 165°C M4
with manual reset
for Coffee machine (RANCILIO) BETSY - SILVIA - S20

1443002

RANCILIO 34200058

Contactors
5019444 CONTACTOR ABB B6-40-00
6A 400V 4Kw - bobina 230V 50/60Hz
4 NO contacts
RANCILIO 34200332
Cup support grids
1185811 CUP WARMING GRID 5049270  GRID CUP SUPPORT PLASTIC

for Coffee machine (RANCILIO) MILLENNIUM

RANCILIO 38123146

dimensions 175x115 mm

for Coffee machine (RANCILIO) CLASSE10 - CLASSE11
CLASSEG6 - CLASSE6LEVA - CLASSE7 - CLASSE7LEVA
CLASSES8 - CLASSE9 - EPOCA - EPOCA NEW

RANCILIO 38123666

Detergents

3092543 COFFEE CLEAN DETERGENT 570 g 3092355
detergent for COFFEE MACHINES
suitable for the cleaning of filter holders

for grease and coffee stains on sauser and cups

RANCILIO RANCILIO

DETERGENT CAPPUCCINO PERFECT 1L

to clean milk frothers
please see the attached documentation for use




4 RANCILIO
Suitable for: Suitable for:
3092351 DETERGENT COFFEE CLEAN 3092350 DETERGENT COFFEE CLEANTABLET2.5¢
package with 15 bags 20 g jar with 60 tablets 2.5 g
for coffee groups cleaning for coffee groups cleaning
RANCILIO RANCILIO
3092143 DETERGENT COFFEE CLEAN 900 g 1092213  DETERGENT GRIND CLEANER 340 ¢
detergent for COFFEE MACHINES detergent for grinders cleaning
suitable for cleaning filters and filter holders natural grain-based ingredients
for grease and coffee stains on cups and saucers 100% biological
please see the attached documentation for use please see the attached documentation for use
| =
N
=7
RANCILIO RANCILIO
3092353 SCALEREMOVER SCALE CLEAN 3092352  SCALEREMOVER SCALE CLEAN 1kg
package with 12 bags 25 g acid descaler for aluminium surfaces
for the cleaning of BABY coffee machines copper, brass, iron
please see the attached documentation for use
RANCILIO RANCILIO
Drain hoses
1449104 DRAINELBOW 3/4" 1449876  DRAIN PIPE ¢ 3/4"F 1500 mm
hose-end fitting @ 13 mm external ¢ 20 mm - internal 6 13 mm
-
RANCILIO RANCILIO 36901801 RANCILIO 69000701
1449270 DRAINPIPEELISPIRg 12x18 mm -30m 1449670 DRAINPIPEELISPIRg 12x18 mm -5 m
alimentary alimentary
N \\ A\ \ N H
A \ \ \ . Nt
AL
RANCILIO RANCILIO




RANCILIO
smmueﬁn Suitable for:
1449271 DRAINPIPEELISPIR ¢ 14x20 mm -30m 1449671 DRAIN PIPEELISPIR ¢ 14x20mm -5m

alimentary

RANCILIO 36901800

alimentary

RANCILIO 36901800

1449272 DRAIN PIPEELISPIR ¢ 16x23 mm -30m 1449672  DRAIN PIPEELISPIR 6 16x23 mm -5 m

alimentary alimentary

\ \
\ \' \ 3

RANCILIO RANCILIO
1449273 DRAIN PIPEELISPIR ¢ 18x25mm -30 m 1449673  DRAIN PIPEELISPIR ¢ 18x25mm -5 m

alimentary alimentary

X \\\ \\\ \\\\‘\‘
\\\\\\\\ \\\‘\\.\\\\\\\\
W AT ) )

‘\\\\ ‘ér,\»\\
RANCILIO RANCILIO
1449274 DRAIN PIPEELISPIR ¢ 20x27 mm -30m 1449674  DRAIN PIPEELISPIR 6 20x27 mm -5 m

alimentary alimentary

\\\ 3 \1 L'} \ \\\\\\\\\‘\
PN ) \\\\§;\\\\
\Ti\\\\ '\\\\\;\\\\\

.“‘\"’1\ \ 1}r«\v\\ \
RANCILIO RANCILIO
1449255 OUTLETHOSEELISPIR ¢ 25x33 mm 1449256  OUTLET HOSE ELISPIR ¢ 30x38 mm

sold per meter sold per meter

\\‘ W) W .mw

\\\\W ) \\\\\\\\\\\\\ W

RANCILIO RANCILIO



Suitable for:

RANCILIO

Suitable for:

Drain tanks

1527004 DRAIN TANK
hose end fitting ¢ 15 mm
for Coffee machine (RANCILIO) S20 - Z11

RANCILIO 38121007

1527812  DRAIN TUB NSF
for Coffee machine (RANCILIO) CLASSE10 - CLASSE7
MILLENNIUM -S20

RANCILIO 38123513

Electronic boxes

1341631 DOSERCONTROL BOX 30/1GR/F 230V 50Hz
for Coffee machine (RANCILIO) L7/DE - S10/DE

RANCILIO 34070026

5039219  DOSING CONTROLBOX 1-2-3 GROUPS 230V

RANCILIO 34070188

5049432 DOSING CONTROL BOX 2-3 GROUPS 230V

RANCILIO 34070208

Electronic printed-circuit boards

1390002 LEVEL CONTROL CIRCUITBOARD

for Coffee machine (RANCILIO) CLASSE10 - CLASSE6

CLASSES8 - EPOCA

RANCILIO 34070171 RANCILIO 34070211

Feet

1313802 FOOT ¢ 40 mm M8 H=31
for Coffee machine (RANCILIO) EPOCA

RANCILIO 10781304

1313803 FOOT @63 mm M10H=45
for Coffee machine (RANCILIO) CLASSET10 - CLASSE11
CLASSE6 - CLASSE6LEVA - CLASSE7 - CLASSE7LEVA
CLASSES8 - CLASSE9 - MILLENNIUM -S20- 711

RANCILIO 10090012 RANCILIO 38123568



RANCILIO
Suitable or: Suitable for:
Filter holder gaskets
1186812 FILTER HOLDER GASKET ¢ 72x57x8 mm 1186452  FILTER HOLDER GASKET ¢ 74x58x8.2 mm
with external cuts with external cuts
for Coffee machine (RANCILIO) CLASSE10 - CLASSE6 for Coffee machine (RANCILIO) AUDREY - NANCY
CLASSE7 - CLASSES8 - CLASSE9 - EPOCA SILVIA
MILLENNIUM - 520 - Z11
RANCILIO 36301001 RANCILIO 36301030
1486032 GASKETFILTER HOLDER ¢ 74x57.5x8.5 mm 5012498 GASKETFILTER HOLDER ¢ 74x58x8.2 mm
with external cuts with external cuts
ORIGINAL ORIGINAL
for Coffee machine (RANCILIO) CLASSE10 - CLASSE11 for Coffee machine (RANCILIO) AUDREY - NANCY
CLASSEG6 - CLASSE6 AL - CLASSE7 - CLASSE7 AL SILVIA
CLASSES8 - CLASSE9 - EPOCA
RANCILIO 36301046 RANCILIO 36301030
5048248 GASKETFORFILTER HOLD.p 74x57.5x8.5 mm
with external splits
for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
CLASSEG6 AL - CLASSE7 - CLASSE7 AL - CLASSE8
CLASSE9 - EPOCA
RANCILIO 36301034 RANCILIO 36301046
Filter holders for coffee machines
1165155 BARLEY POD FILTER HOLDER RANCILIO 1165162 BARLEY/COFFEEPODSFILTER HOLDER

RANCILIO

flow regulation by
knob rotation
blades 6 mm

wings 6.5 mm

RANCILIO




)
{

s, RANCILIO

‘ p
Suitable for: Suitable for:
1165187 BOTTOMLESS FILTERHOLDER RANCILIO 1165251  FILTER HOLDER CAPS.LAVAZZA DIFF.BRANDS
wings 6.2 mm alette 6,2 mm
per capsule singole lavazza blue
RANCILIO RANCILIO

1165214 FILTERHOLDER COMPLETE 1 CUP RANCILIO
spout connection @ 3/8" - screw handle connection
wings 6 mm - with spring - without filter
SLANTED
for Coffee machine (RANCILIO) CLASSE10 - CLASSE11
CLASSE6 - CLASSE7 - CLASSE8 - CLASSE9 - EPOCA
EPOCA NEW

RANCILIO 10071118 RANCILIO 10071118R

1165621  FILTERHOLDER COMPLETE 1 CUP RANCILIO

spout connection @ 3/8" - screw handle connection
wings 6 mm - with spring - without filter

RANCILIO 10071010 RANCILIO 10071110

5076427 FILTER HOLDER COMPLETE 1 CUP RANCILIO
spout connection @ 3/8" - screw handle connection
wings 6 mm - with spring - without filter
for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
CLASSE7 - CLASSES8 - CLASSE9 - EPOCA

RANCILIO 10071021

1165215  FILTERHOLDER COMPLETE 2 CUPS RANCILIO
spout connection @ 3/8" - screw handle connection
wings 6 mm - with spring - without filter
SLANTED
for Coffee machine (RANCILIO) CLASSE10 - CLASSE11
CLASSE6 - CLASSE7 - CLASSE8 - CLASSE9 - EPOCA
EPOCA NEW

Fi=
F=¥

RANCILIO 10071137

1165645 FILTERHOLDER COMPLETE 2 CUPSRANCILIO
spout connection @ 3/8" - screw handle connection
wings 6 mm - with spring - without filter

o

§

RANCILIO 10071020 RANCILIO 10071120

5077808 FILTERHOLDER COMPLETE 2 CUPSRANCILIO
spout connection @ 3/8" - screw handle connection
wings 6 mm - with spring - without filter
for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
CLASSE7 - CLASSES8 - CLASSE9 - EPOCA

RANCILIO 10071022




i]“ \ad
RANCILIO %@
Suitable for: Suitable for:
1165046 FILTERHOLDERRANCILIO 1165500  FILTERHOLDER WITH THERMOMANOMETER
spout connection @ 3/8" - screw handle connection measures water temperature and outlet pressure
wings 6 mm from the brew group
for Coffee machine (RANCILIO) CLASSE10 - CLASSE11 temperature scale 0-120°C/ 0-240°F
CLASSEG6 - CLASSE7 - CLASSES8 - CLASSE9 - EPOCA pressure scale 0-16 bar / 0-200 psi
S20-711 with outlet ballvalve
fins 7.2 mm
for Coffee machine (RANCILIO)
RANCILIO 20112011 RANCILIO
5086956 PORTAFILTRO SENZA FONDO VARIMARCHI 1160521 1 CUPFILTER HOLDER ASSEMBLY RANCILIO
alette 6,2 mm spout connection @ 3/8" - screw handle connection
adattabile per macchine BFC wings 6 mm - with spring - without filter
adattabile per macchine ECM MANUFACTURE
adattabile per macchine EXPOBAR
adattabile per macchine PROMAC
adattabile per macchine RANCILIO
adattabile per macchine ROYAL
adattabile per macchine SANREMO
adattabile per macchine VIBIEMME
RANCILIO LF-5086957 RANCILIO 10071010 RANCILIO 10071110
1160545 2 CUPSFILTERHOLDERASSEMBLY RANCILIO 1165030 2 CUPSFILTER HOLDERASSEMBLY RANCILIO
spout connection @ 3/8" - screw handle connection spout connection @ 3/8" - screw handle connection
wings 6 mm - with spring - without filter wings 6 mm - with spring - without filter
for Coffee machine (RANCILIO) SILVIA
S
RANCILIO 10071020 RANCILIO 10071120 RANCILIO 10070100 RANCILIO 10070108 RANCILIO 10070108R

Filter locking springs

1250101 FILTERBLOCKING SPRING ¢ 1,00 mm INOX 1250338

RANCILIO RANCILIO 25105001 RANCILIO 25105005 RANCILIO

FILTER LOCKING SPRING ¢ 1.40 mm ST.STEEL




“\»{‘/
'y RANCILIO
Suitable for: Suitable for:
1250002 S/STEELFILTER LOCKING SPRING ¢ 1.20 mm 1250333  SPRING FILTERBLOCK ¢ 1.30 mm ST.STEEL
RANCILIO RANCILIO
Filters
1160012 FILTERg 11 mm 1160801  WATERFILTER M8x1
for Coffee machine (RANCILIO) CLASSE10
RANCILIO 10706070 RANCILIO 10705003
Fittings
1523802 COUPLING WITHFILTER ¢ 1/8"M-1/4"M 1349102  FITTING ¢ 1/4"M-1/4"M
for Coffee machine (RANCILIO) S20 - Z11
RANCILIO 10720002 RANCILIO 23217015
1349111 FITTING ¢ 1/8"M 1/4"M 1349103  FITTING ¢ 3/8"M-3/8"M
RANCILIO 23214025 RANCILIO 23217019
Flowmeters
1455033 CONNECTORFEMALE SMALL 1455032 IMPELLERGICAR
for volumetric flowmeter
[ ]
®
L )

RANCILIO RANCILIO




RANCILIO

Suitable for: Suitable for:

1455026 VOLUMETRICFLOW METER GICAR
connections @ 1/4" FF - orifice 1.5 mm
NSF approved
for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
CLASSE7 - CLASSES8 - CLASSE9 - EPOCA
EPOCA NEW

RANCILIO 10705126 RANCILIO 10705201 RANCILIO 10705208
RANCILIO 34070050

Fuses

3049052 QUICK ACTING FUSE ¢ 5x20 mm - 10 PCS
250V 4A

RANCILIO 65228004

Gas taps and accessories

3348044 PIPEOLIVEG 10 mm
for model PEL 20 - 21

RANCILIO 23120010

Gaskets and seals

1186394 ASBESTOS FREE FLAT GASKET ¢ 22x17x2 mm 1186175  BLIND GASKET ¢ 13x4 mm

P

S &
RANCILIO RANCILIO 36301105
1186793 CONICAL PTFE SEAL ¢ 12x6.5 mm 1186804 CONICAL PTFE SEAL ¢ 14x9x6 mm
for steam pipe for water/steam tap

for Coffee machine (RANCILIO) CLASSE10 - EPOCA
J . ",'4"‘“'\‘\?,;

N

RANCILIO 36930016 RANCILIO 36130001




/

\\K ‘
) /(\
A RANCILIO
Suitable for: Suitable for:
1186811 COPPER FLAT GASKET ¢ 10x6x1 mm 1348821  COPPER FLAT GASKET ¢ 15x10x1 mm
RANCILIO 36240001 RANCILIO 36240002
1186619 COPPER FLAT GASKET ¢ 18x14x1.5 mm 1186620 COPPER FLAT GASKET ¢ 22x17x1.5mm
RANCILIO 27270001 RANCILIO 27350001 RANCILIO 27350002 RANCILIO 27350003
1186823 COPPER FLAT GASKET ¢27x21.5x1 mm 1186828  COPPER FLAT GASKET ¢ 30x26x1 mm
RANCILIO 36240004 RANCILIO 36240003
3186011 FLAT CARBO GASKET ¢ 63x48x2 mm 1186677 FLATCOPPER GASKET ¢ 22x18x1.8 mm
universal carbo
for heating element
RANCILIO RANCILIO 27400002
1186810 FLATCOPPER GASKET ¢ 24x21x1 mm 1186427 FLATEPDM GASKET ¢ 10x4Xx2 mm
for Coffee machine (RANCILIO) CLASSE10 - EPOCA
RANCILIO 27400001 RANCILIO 36301009
1186454 FLATEPDM GASKET ¢ 11x3.6x2mm 1186410 FLATEPDM GASKET ¢ 21x16x2 mm

RANCILIO 36302001 RANCILIO 36201005




RANCILIO

Suitable for: Suitable for:

1186450 FLAT GASKET ¢ 32x26x1 mm 1186809  FLATPTFE GASKET ¢ 12x9x1 mm

O

RANCILIO 36240005 RANCILIO 36230006
1186201 GASKETFLATPTFE@21x16.8x2 mm 1186311  NBRFLAT GASKET ¢ 13x4x4 mm
for Coffee machine (RANCILIO) CLASSE10 - CLASSE11
EPOCA
RANCILIO 36220009 RANCILIO 36301008
1186443 PTFEFLAT GASKET ¢ 18x9x0.5 mm 1186314  PTFEFLAT GASKET 9 22x17X2 mm
RANCILIO 3623000t RANCILIO LF-1186245
1186455 PTFEFLAT GASKET ¢ 65x46x1,5 mm 1186171  ROUND COPPER GASKET ¢ 22x16.5x2.2 mm

for heating element

7S
\ == 4

RANCILIO 36930012 RANCILIO

1186822 VITON FLAT GASKET ¢ 13x4x4 mm
for Coffee machine (RANCILIO) CLASSE10

RANCILIO 36302002



.y RANCILIO

Suitable for: Suitable for:
Gaskets for coffee group
1186827 COFFEE GROUP GASKET ¢ 125x105x1 mm 1186825 COFFEE GROUP GASKET ¢ 32 mm
for Coffee machine (RANCILIO) Z11 for righthand valve
for Coffee machine (RANCILIO) Z11
RANCILIO 36206008 RANCILIO 36206004

1186826 COFFEE GROUP GASKET¢32 mm
for lefthand valve
for Coffee machine (RANCILIO) Z11

RANCILIO 36206003

Gaskets for coffee machine boiler

1186449 BOILER GASKET ¢ 130x116x2 mm 1186808 BOILER GASKET ¢ 145x135x5 mm
PTFE red silicone

\\\J

RANCILIO 36220018 RANCILIO 36404114
1186801 BOILER GASKET ¢ 175x123x2 mm
PTFE - 8 holes

for Coffee machine (RANCILIO) CLASSE10 - EPOCA
MILLENNIUM -S20 - 711

RANCILIO 36220015 RANCILIO 36930011

Handles for filterholder-portafilter

1241511 FILTERHOLDERHANDLE 1241502  FILTERHOLDERHANDLEM10

for Coffee machine (RANCILIO) EPOCA

RANCILIO 38121018 RANCILIO




Suitable for:

RANCILIO %@

Suitable for:

1241169 FILTERHOLDERHANDLE M12

RANCILIO

1241501  FILTER HOLDERHANDLE M12

\

RANCILIO

1241504 FILTERHOLDERHANDLE M12

=

RANCILIO

1241047  FILTERHOLDERKNOB

\

RANCILIO 38123569

1241050 FILTERHOLDERKNOB CAP

RANCILIO 38123570 RANCILIO 38123599

1241051  FILTERHOLDERKNOB CAP

RANCILIO 38121032

1241269 FILTERHOLDERKNOB M10

RANCILIO

1141006  FILTERHOLDERKNOB M10 SOFT

\

RANCILIO

1141007 FILTERHOLDERKNOB M124 SOFT

\

RANCILIO

5051751  FILTERHOLDER KNOB WHITEM10

RANCILIO

1141004 HANDLEFORFILTER HOLDER M10 WALNUTWOOD

RANCILIO

5083515 HANDLEFORFILTERHOLDER M10 WALNUTWOOD

RANCILIO




f‘\ f

)| ‘/‘P

v

Suitable for:

RANCILIO

Suitable for:

1141003 HANDLE FOR FILTER HOLDER M12 WALNUTWOOD

RANCILIO

5055983 HANDLE FORFILTER HOLDER M12 WALNUTWOOD

RANCILIO

5054505 KNOBF.FILTERHOLDER M12 RED POLISHED

RANCILIO

1141012 KNOBFILTER HOLDER
for Coffee machine (RANCILIO) CLASSE10 - CLASSE11
CLASSEG6 - CLASSE7 - CLASSES8 - CLASSE9 - EPOCA

RANCILIO 10705091

1241505 KNOBFILTER HOLDER M10

RANCILIO

5054506  RED FILTERHOLDER KNOB M10 POLISHED

=

RANCILIO

5051102 WHITEFILTERHOLDERKNOB M12

RANCILIO

Heating elements

1755186 COVER FORHEATING ELEMENT M 10x1

RANCILIO 23210004 RANCILIO 23214024

1755046  HEATING ELEMENT 1100W 230V

immersed length 60 mm - 2 poles
9 55 mm - fittings ¢ 13 mm

RANCILIO 33122014




RANCILIO
Suitable or: Suitable for:
1755801 HEATING ELEMENT 1700W 230V 3060608 O-RING 03050 EPDM

immersed length 190 mm - 2 poles

¢ 105 mm - fittings o 1/4"

for Coffee machine (RANCILIO) EPOCA - S24 - S26
S27

ﬁ :,b.,\

RANCILIO 33122017

RANCILIO 36405002 RANCILIO 65456020

3355453

HEATING ELEMENT 2100W 220V 6-POLE

immersed length 210 mm

distance between fastening holes 62 mm

flange 78x78 mm - with hole for cap

complete with gasket 8 63 mm (3186011)

nut (3528232) and washer (3528238) on request
for Coffee machine (RANCILIO)

gﬁo ;/.,

RANCILIO 33322022

1186455

PTFE FLAT GASKET ¢ 65x46x1,5 mm

for heating element

/\ B
X
\
[ |

RANCILIO 36930012

3186011 FLAT CARBO GASKET ¢ 63x48x2 mm

universal carbo
for heating element

RANCILIO

1755777

HEATING ELEMENT 2700W 110V
immersed length 235 mm - 6 poles
distance between mounting holes 62 mm
with hole for cap - flange 78x78 mm

for coffee machines with 2 groups

RANCILIO 33311028

1186455

PTFEFLAT GASKET ¢ 65x46x1,5 mm

for heating element

RANCILIO 36930012

3186011  FLATCARBO GASKET ¢ 63x48x2 mm

universal carbo
for heating element

RANCILIO



b, RANCILIO

Suitable for: Suitable for:

1755182 HEATING ELEMENT 3000W 220/380V 3186011  FLATCARBO GASKET ¢ 63x48x2 mm
immersed length 230 mm - 6 poles universal carbo
distance between the holes 62 mm for heating element

with bulb sheath - flange 78x78 mm

for coffee machines with 2 groups

for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
CLASSE6LEVA - CLASSE7 - CLASSES8 - CLASSE9

EPOCA

RANCILIO 33322027 RANCILIO 33323300 RANCILIO 36322027 RANCILIO

1186455 PTFEFLAT GASKET ¢ 65x46x1,5 mm

for heating element

/"\\\
// \\\
RANCILIO 36930012
3355454 HEATING ELEMENT 3900W 220V 6POLE 3186011  FLATCARBO GASKET ¢ 63x48x2 mm
immersed length 390 mm universal carbo
distance between fastening holes 62 mm for heating element

flange 78x78 mm - with cap hole

complete with gasket 8 63 mm (3186011)

nut (3528232) and washer (3528238) on request
for Coffee machine (RANCILIO) MILLENNIUM - S20

211

RANCILIO 33322039 RANCILIO 33322040 RANCILIO

1186455 PTFEFLAT GASKET ¢ 65x46x1,5 mm

for heating element

RANCILIO 36930012



Suitable for:

RANCILIO B

Suitable for:

1755048 HEATING ELEMENT 4300W 230/400V
immersed length 375 mm - 6 poles
distance between the holes 62 mm
with bulb sheath - flange 78x78 mm

for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
CLASSE6LEVA - CLASSE7 - CLASSES8 - CLASSE9

EPOCA

RANCILIO 33323430

1186455 PTFEFLAT GASKET ¢ 65x46x1,5mm

for heating element

RANCILIO 36930012

3186011  FLATCARBO GASKET ¢ 63x48x2 mm

universal carbo
for heating element

RANCILIO

1755183 HEATING ELEMENT 6000W 230/380V

immersed length 395 mm - 6 poles

distance between mounting holes 62 mm

with hole for cap - flange 78x78 mm
for coffee machines with 4 groups

for Coffee machine (RANCILIO) MILLENNIUM - Z11

RANCILIO 33322061 RANCILIO 33322065

1186455 PTFEFLAT GASKET ¢ 65x46x1,5mm

for heating element

RANCILIO 36930012

3186011  FLATCARBO GASKET ¢ 63x48x2 mm

universal carbo
for heating element

RANCILIO



., RANCILIO

Suitable for: Suitable for:

1755049 HEATING ELEMENT 6000W 230V 3186011  FLATCARBO GASKET ¢ 63x48x2 mm
immersed length 400 mm - 6 poles universal carbo
distance between the holes 62 mm for heating element

with bulb sheath - flange 78x78 mm
for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
CLASSE6LEVA - CLASSES - CLASSE9 - EPOCA

M

RANCILIO 33323600 RANCILIO

1186455 PTFEFLAT GASKET ¢ 65x46x1,5 mm

for heating element

RANCILIO 36930012

Hydraulic piping
3450114 PVCPIPE@ 4/7mm - 10 mt 3450214 PVCPIPE¢4/7mm-100m
alimentary alimentary
RANCILIO 38228050 RANCILIO 65143194 RANCILIO 38228050 RANCILIO 65143194
Ignitors

3001007 PIEZO IGNITER
ao 22 mm hole is needed for the assembly
faston M ¢ 2.4 mm

——

RANCILIO 69000020



RANCILIO %@

Suitable for: Suitable for:

Indicator lights
1221801 GREENINDICATOR LAMP 230V 3221097 NEUTRALINDICATOR LAMP 220V
head ¢ 15.5 mm - hole 12 mm head 2 8 mm - 120°C
for Coffee machine (RANCILIO) S20 - Z11 for Coffee machine (RANCILIO) CLASSE10 - CLASSE6

CLASSEGLEVA - CLASSE7 - CLASSE7LEVA - CLASSE8
CLASSE9 - EPOCA

g !

@ &
-3 L

RANCILIO 10111015 RANCILIO 34030116
3221095 ORANGEINDICATORLAMP 230V 3221163 ORANGE LAMP RECEPTACLE

head ¢ 13.5 mm - hole 8 10 mm - 120°C head ¢ 15 mm - hole 10 mm

universal application for Coffee machine (RANCILIO) CLASSE10 - CLASSE6

CLASSEGLEVA - CLASSE7 - CLASSE7LEVA - CLASSE8
CLASSE9 - EPOCA

f"&
= 1
RANCILIO 65216018 RANCILIO 34030110
Injectors
1501811 NOZZLEM8x1HOLE@ 0,5mm
for brew group
for Coffee machine (RANCILIO) CLASSE10 - CLASSE11
CLASSEG6 - CLASSE7 - CLASSES8 - CLASSE9 - EPOCA
.
RANCILIO 10060507 RANCILIO 10060603 RANCILIO 10060612
RANCILIO 23210016 RANCILIO 23212018
Inlet hoses
1449737 FLEXHOSE @ 3/8"Fcx CFc2000 mm 1449227 FLEXHOSE®@ 1/8"Fpx 1/8"Mp 205 MM
EPDM hose covered in stainless steel tubo DN6 (@ 6x10 mm )
hose external 8 12 mm inner siliconee hose FDA (U.S.A) approved

max temperature 90°C
max pressure 10 bar

RN

= O s R e

RANCILIO 69000718 RANCILIO




“\»{‘/
v RANCILIO
Suitable for: Suitable for:
1449228 FLEXHOSE® 1/8"Fpx 1/8"Mp 490 MM 1449229  FLEXHOSE @ 3/8"Fcx Fc 1000 MM
hose DN8 (2 8x12 mm)
NSF certified (U.S.A.)

tubo DN6 (2 6x10 mm )
inner siliconee hose FDA (U.S.A) approved

RANCILIO RANCILIO

1449230 FLEXHOSE®@ 3/8"FcxFc1200 MM 1449233  FLEXHOSE @ 3/8"Fcx 3/8"CFc 385 MM
hose DN8 (2 8x12 mm) hose DN8 (2 8x12 mm)
NSF certified (U.S.A.) NSF certified (U.S.A.)

RANCILIO RANCILIO

1449235 FLEXHOSE® 3/8"Fcx 3/8"CFc880 MM 1449259 FLEXHOSE @ 3/8"Fcx 3/8"CMc 1200 MM
hose DN8 (2 8x12 mm) hose DN8 (2 8x12 mm)
NSF certified (U.S.A.) NSF certified (U.S.A.)

RANCILIO RANCILIO

1449258 FLEXHOSE@ 3/8"Fcx 3/8"CMc350 MM 1449260 FLEXHOSE @ 3/8"FcxFc2300 MM + VALVE

hose DN8 (2 8x12 mm)
NSF certified (U.S.A.)

RANCILIO

RANCILIO 69000720

hose DN8 (2 8x12 mm)
with non-return valve
NSF certified (U.S.A.)

RANCILIO 69000735

RANCILIO 69000739

1449261 FLEXHOSE @ 3/8"FcxFc 2800 MM +VALVE
hose DN8 (2 8x12 mm)
with non-return valve
NSF certified (U.S.A.)

RANCILIO 69000733

1449257

RANCILIO

FLEX HOSE @ 3/8"Fp x Fp 1500 MM
hose DN8 (2 8x12 mm)
NSF certified (U.S.A.)

U 55 ER R L s o

(I SRR



Suitable for:

RANCILIO

Suitable for:

Ironmongery (screws,nuts,washers)

1241513 BLIND HEXAGONAL NUT M8 UNI 5721
stainless steel - height 16 mm UNI 5721 - DIN 1587

RANCILIO 37320800

1186807  BRASS WASHER ¢ 18x13x0.5 mm FLAT

‘.\! i

RANCILIO 23131005

1186814 BRASS WASHER ¢ 13x9x0.5 mm FLAT

for steam tap

RANCILIO 23123003

1528017  BRASS WASHER FLAT ¢ 17x9x1 mm

oy

y
4

RANCILIO 32239002

1528001 COUNTERSUNK FLATHEAD SCREWS M4x10
slotted - stainless steel
UNI 6109 - DIN 963 - 1SO 2009

RANCILIO 37184012

1528023 COUNTERSUNK FLATHEAD SCREWS M5x16
cross recessed - stainless steel
UNI 7688 - DIN 965 - 1SO 7046

RANCILIO 37060513

3528291 CROSS HEAD FLUSH SCREW M4x8
cross-shaped - st./steel
UNI 7688 -DIN 965 - 1SO 7046

RANCILIO 37030407

1455034  CYLINDERHEAD SCREW M4x10
stainless steel - with hexagon socket
UNI5931-DIN912-1S0 4762

RANCILIO

1528100 CYLINDERHEAD SCREW M4x12
stainless steel - cross cut
UNI 7687 - DIN 7985 - 1SO 7045

RANCILIO 37113913

RANCILIO 37174012

1184012  CYLINDERHEAD SCREW M5x10
stainless steel - with hexagon socket
UNI9327 - DIN 7984

RANCILIO 37040510




‘\»{“/
A RANCILIO

Suitable for: Suitable for:

1528516 CYLINDER HEAD SCREW M5x12 1528012  CYLINDERHEAD SCREW M5x14
stainless steel - slotted stainless steel - cross recessed
UNI 6107 - DIN 84 -1S0 1207 UNI 7687 - DIN 7985 - 1SO 7045

RANCILIO 25124007 RANCILIO 37030511 RANCILIO 37030513 RANCILIO 37030518

1184804 CYLINDERHEAD SCREW M6x8 1528026  CYLINDERHEAD SCREW M8x20
stainless steel - with hexagon socket stainless steel - with hexagon socket
UNI 5931 -DIN912-1S0 4762 UNI5931-DIN 912 -1S0 4762

RANCILIO 37060608 RANCILIO 37040821 RANCILIO 37060820

1186192 FLATWASHER M5 1184867 HEXAGONHEAD SCREW M4x16
internal/external ¢ 5.3/10 mm - thickness T mm stainless steel - UNI 5739 - DIN 933 - 1S0 4017
stainless steel - UNI 6592 - DIN 125 A - 1SO 7089

RANCILIO 37410501 RANCILIO 37040414

1184820 HEXAGONHEAD SCREW Mé6x25 3528088 HEXAGONHEAD SCREW M8x20
stainless steel - UNI 5739 - DIN 933 -1S0 4017 stainless steel - UNI 5739 - DIN 933 - 1S0 4017

RANCILIO 37040625 RANCILIO 37060625 RANCILIO 37040820

9528028 HEXAGONHEAD SCREW M8x30 3528112 HEXAGONAL HEAD SCREW M6x16

stainless steel - UNI 5739 - DIN 933 - 1SO 4017 st./steel - UNI 5739 - DIN 933 - IS0 4017

RANCILIO 37040830 RANCILIO 37040615




RANCILIO

Group,
Suitable for: Suitable for:

3528213 HEXAGONAL NUT MID M5 1348813 HEXAGONAL NUT M4 MEDIUM
st./steel - UNI 5588 - DIN 934 - 1S0 4032 stainless steel - UNI 5588 - DIN 934 - IS0 4032

RANCILIO 37320501 RANCILIO 37310400
1528621 HEXAGONALNUT M8 SHORT M8 1184006 LOW CYLINDERHEAD SCREW M4x12
stainless steel - UNI 5589 - DIN 936 - 1S0 4035 stainless steel - with hexagon socket

UNI 9327 - DIN 7984

RANCILIO 37330810 RANCILIO 37030412 RANCILIO 37060413
1528030 MID HEXAGONALNUT M6 3523086 NUT¢3/4"
stainless steel - UNI 5588 - DIN 934 - IS0 4032 for Coffee machine (RANCILIO) CLASSE10

MILLENNIUM - S20

RANCILIO 37320600 RANCILIO 37320601 RANCILIO 23232005
1449804 NUT ¢ 3/8"F H4 SPANNER 19 1349351 NUT @ 3/8"FH5 KEY 24 mm
for Coffee machine (RANCILIO) CLASSET10 - CLASSE11 for Coffee machine (RANCILIO) EPOCA - MILLENNIUM
CLASSE6 - CLASSE6LEVA - CLASSE7 - CLASSE7LEVA S$20-711
CLASSES8 - CLASSE9 - EPOCA - MILLENNIUM - S20
Z11

RANCILIO 26220005 RANCILIO 23222002
1348814 TOOTHED WASHER EXT.M4 1528020 WASHERFLATLARGEMS8
internal/external ¢ 4.3/8 mm - thickness 0.5 mm internal/external ¢ 8.4/18 mm - thickness 1.3 mm
stainless steel - UNI1 8842 A - DIN 6798 A in zinc plated iron alloy

stainless steel - UNI1 6593 - DIN 9021 - 1SO 7093

RANCILIO 37430400 RANCILIO 32239044




.y RANCILIO

Suitable for: Suitable for:

1186504 WASHERFLATM10
internal/external ¢ 10.5/20 mm - thickness 2 mm
stainless steel - UNI1 6592 - DIN 125 A - 1SO 7089

RANCILIO 39520008

Knobs
5055880 KNOBSTEAM TAP 5056833 KNOBSTEAM TAP
hole for D-shaped pin 7x5 mm for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
for Coffee machine (RANCILIO) SILVIA NEW CLASSE6LEVA - CLASSE7 - CLASSE7LEVA - CLASSES8
CLASSE9 - EPOCA - EPOCA NEW
RANCILIO 10060186 RANCILIO 10060190 RANCILIO 10060183 RANCILIO 10060189
5062752 KNOBWATERTAP 1241821  SELECTORSWITCH KNOB ¢ 42 mm
for Coffee machine (RANCILIO) CLASSE10 - CLASSE6 square pin hole 5x5 mm
CLASSE6LEVA - CLASSE7 - CLASSE7LEVA - CLASSE8
CLASSE9 - EPOCA - EPOCA NEW
RANCILIO 10060182 RANCILIO 10060188 RANCILIO 10705215 RANCILIO 38123090
1241048 STEAM TAP KNOB 1241831 STEAM TAP KNOB
for Coffee machine (RANCILIO) CLASSE10 for Coffee machine (RANCILIO) S20 - Z11
RANCILIO 10705087 RANCILIO 10060152
5030150 STEAM TAPKNOB 5033626 STEAM TAP KNOB
spring not included - LF 5002995 for Coffee machine (RANCILIO) CLASSE10 - CLASSE11
for Coffee machine (RANCILIO) SILVIA CLASSEG6 - CLASSE7 - CLASSES - CLASSE9 - EPOCA

RANCILIO 38121037 RANCILIO 10060181




Suitable for:

RANCILIO %

Suitable for:

1241824 WATERTAPKNOB

RANCILIO 10060176

1241830 WATERTAPKNOB
for Coffee machine (RANCILIO) S20 - Z11

RANCILIO 10060162

1241046 WATER/STEAM TAP KNOB
for Coffee machine (RANCILIO) EPOCA

RANCILIO 10060175 RANCILIO 38123884

1241833  WATER/STEAM TAPKNOB
for Coffee machine (RANCILIO) MILLENNIUM

RANCILIO 10060177 RANCILIO 38123564 RANCILIO 38123565

Labels for control panels

5024358 CONTROL PANEL GRAY
dimensions 745x135 mm
for Coffee machine (RANCILIO) EPOCA

\

RANCILIO 10700221 RANCILIO 10700229 RANCILIO 381237558

RANCILIO 38123759

5039042 CONTROL PANEL RED
dimensions 745x135 mm
for Coffee machine (RANCILIO) EPOCA

pr—

RANCILIO 10700230 RANCILIO 38123755 RANCILIO 38123755A

Level balls

1323001 RED LEVELBALL@5.8mm

RANCILIO

1348812  SPHERE MADE OF STAINLESS STEEL 6 9.52 mm

RANCILIO 37900110

Level gauges

1201007 LEVEL GAUGEPLATE61x18 mm

for Coffee machine (RANCILIO) CLASSE10 - CLASSE6

CLASSE6LEVA - CLASSES8 - CLASSE9

RANCILIO 38123856

1520561  LEVEL GLASS ¢ 12x140 mm

RANCILIO 41010010




o, RANCILIO

‘ p
Suitable for: Suitable for:
1201010 LEVEL GLASS ASSEMBLY 1201585  LEVELPLATE90x50 mm

for Coffee machine (RANCILIO) S20 - Z11

l s

RANCILIO 10060380 RANCILIO 10060382

1449877 PTFE LEVEL GLASS ¢ 10x107 mm
for RANCILIO EPOCA-CLASSE6-CLASSE8-CLASSE10
for PROMAC GREEN-COMPACT
for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
CLASSES - EPOCA

RANCILIO 38125007

RANCILIO 38228066

Level regulators

1341301 LEVELADJUSTER NRL30/1E-2C/F 230V 5056960 LEVEL REGULATOR NRL30/1E-2C/F 115V
230V 50/60Hz 5A 115V 50/60Hz 1,5VA
for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
CLASSEG6 AL - CLASSE7 AL - CLASSES - EPOCA
MILLENNIUM - S20

RANCILIO 34070029 RANCILIO 34070028

Level sensors

1341802 LEVELPROBE@ 1/8"M-115mm
for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
CLASSE6LEVA - CLASSE7 - CLASSE7LEVA - CLASSE9
EPOCA - MILLENIUM - S20

=2 -

RANCILIO 10202204 RANCILIO 25110005 RANCILIO 34200086
RANCILIO 34200088



Suitable for:

RANCILIO %@

Suitable for:

Lip seals

1186831 LIP SEAL ¢ 104x88x8 mm

O

RANCILIO 36101012

1348826  LIP SEAL ¢ 15x9x4.5mm
for Coffee machine (RANCILIO) CLASSE10
MILLENNIUM -S20 - 711

RANCILIO 36101002

1186460 LIP SEAL ¢ 19x13x4 mm

RANCILIO 36101003

1186832  LIP SEAL 6 24x14x5mm

dimensions @ 24x14x5 mm

RANCILIO 36101004

1186816 LIP SEAL ¢ 50x38x7.5 mm
for Coffee machine (RANCILIO) CLASSE6 AL
CLASSE7 AL-Z711

0

RANCILIO 36101005

1186817  LIP SEAL 9 51x38x7.5mm
for Coffee machine (RANCILIO) CLASSE6 AL
CLASSE7 AL-Z711

RANCILIO 36101006

1186821 LIP SEAL ¢ 54x40x7.5 mm

0

RANCILIO 36101007

1186820  LIP SEAL ¢ 55x41x7.5mm

RANCILIO 36101008

Microswitches, mechanical

1240801 MICROSWITCHLOVATO KSC3S
15A 250V

for Coffee machine (RANCILIO) CLASSE10 - Z11

RANCILIO 34100001

1240847  MICROSWITCH OMRON VX-5-1A2
5A 250V

RANCILIO 34100003




/

N

)| ‘/‘ﬁ
o RANCILIO

Suitable for: Suitable for:

3240123 MICROSWITCHROLD VRSRB1DA1
16A 250V

e
RANCILIO 68023055
Non-return and expansion valves

1523009 EXPANSION VALVE¢3/8"M-1/4"M 1523700 NON-RETURNVALVE @ 1/8"M-1/8"M
for Coffee machine (RANCILIO) CLASSE10 for Coffee machine (RANCILIO) EPOCA1GR - S20 - S24
MILLENNIUM -S20 - Z11 S26-S27

RANCILIO 10060460 RANCILIO 10060505

Nozzles for coffee groups

1349803 BREW GROUP SPRAY NOZZLE@ 21 mm
via hole 6 mm
for Coffee machine (RANCILIO) CLASSET10 - CLASSE11
CLASSEG6 - CLASSE7 - CLASSES8 - CLASSE9 - EPOCA
MILLENNIUM -S20 - Z11

RANCILIO 25139001

O-Ring and ORM gaskets

1186292 GASKETOR 0130 SILICONE 3243009 O-RING GASKET 0106 EPDM
RANCILIO 68020632 RANCILIO 65456030
3186001 O-RING GASKET 06150 EPDM 3186013  O-RING GASKET 06187 EPDM ¢ 58 mm

RANCILIO 36401001 RANCILIO 36404015 RANCILIO 65456075 RANCILIO 65456002




Suitable for:

RANCILIO

Suitable for:

1186453 0-RING M 0500-40 RED SILICONE

for heating element

O

RANCILIO 36404113

3060608 O-RING 03050 EPDM

O

RANCILIO 36405002 RANCILIO 65456020

1186304 O-RINGO112EPDM

RANCILIO 65456015

1186805 O-RINGO0115EPDM

O

RANCILIO 36404001

3186606 O-RING 0144 EPDM

O

RANCILIO 65456052

3186238  O-RING 0146 EPDM

O

RANCILIO 36404020

1186014 0-RING 02015 EPDM

O

RANCILIO 36404049

1186421  0-RING 02018 EPDM

O

RANCILIO 36401003

1186362 0-RING 02021 EPDM

O

RANCILIO 36404014

1186611  O-RING 02025 RED SILICONE

RANCILIO

1186612 0-RING 02025 VITON

for Coffee machine (RANCILIO) EPOCA - S24 - S26

527

O

RANCILIO 36402001

1186901  O-RING 02031 -RED SILICON

O

RANCILIO 36404013




)
( \E/‘

v RANCILIO

Suitable for: Suitable for:

1186411 0-RING 02031 EPDM 1186803 O-RING 02037 EPDM
for Coffee machine (RANCILIO) CLASSE10

O

RANCILIO 36407001 RANCILIO 36402003 RANCILIO 65456019

O

1186346 0-RING 02043 EPDM 1186631  0-RING 02112 VITON

RANCILIO 36401002 RANCILIO

3243389 O-RING 03162 EPDM 1186237  0-RING 03300 EPDM

RANCILIO 68020429 RANCILIO 65456038

O

1186655 0-RING 04131 EPDM 1186457  RED SILICONEO RING 0177

O

O

RANCILIO 36404019 RANCILIO 36405001

1186458 RED SILICONERING 03050 1186806  SILICONE O-RING 04475
for Coffee machine (RANCILIO) EPOCA - S24 - S26
S27

C

RANCILIO 36405002 RANCILIO 36404111

1186456 VITON ORING 06300

9

RANCILIO 36404009



Suitable for:

RANCILIO %

Suitable for:

Paper seals

1190005 PAPERSHIM ¢ 70x57x0.5 mm

RANCILIO

1190001  PAPERSHIM ¢ 73x59x0.8 mm
for Coffee machine (RANCILIO) CLASSE10 - EPOCA

RANCILIO 36221001

1190003 RUBBER SHIM ¢ 70x57x1 mm EPDM

RANCILIO

1190002  RUBBER SHIM ¢ 73x59x1 mm EPDM

RANCILIO

Pilot burners and accessories

3020081 OLIVEFOR6mm ¢ PIPE

RANCILIO 27350005

Pins

5057551 PINFORTAP

for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
CLASSE6LEVA - CLASSE7 - CLASSE7LEVA - CLASSES8

CLASSE9 - EPOCA

RANCILIO 10706040 RANCILIO 10706044

1184853  ROLLPIN
for brew group

RANCILIO 25118004

1348046 TAPPIN

for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
CLASSE6LEVA - CLASSE7 - CLASSE7LEVA - CLASSE8

CLASSE9 - EPOCA

RANCILIO 23224002

1349038 TAPPIN
for Coffee machine (RANCILIO) S20 - Z11

RANCILIO 25224001




Suitable for:

RANCILIO

Suitable for:

1324078 TAPROD
for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
CLASSE6LEVA - CLASSE7 - CLASSE7LEVA - CLASSE8
CLASSE9 - EPOCA

RANCILIO 10060002

1324802  TAP SPINDLE ASSEMBLY
for Coffee machine (RANCILIO) CLASSE10 - EPOCA

RANCILIO 10706073

Pipes for coffee machines

1449055 INJECTION PIPE ¢ 1/4"M
for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
CLASSE7 - CLASSES8 - EPOCA -S20-711

RANCILIO 10042172

Pressure gauges

1245014 BOILER PRESSURE GAUGE ¢ 40 mm 0+2.5 bar
single scale 0+-2.5 bar - connection ¢ 1/8"M
rim ¢ 44 mm - body ¢ 40 mm
for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
CLASSE6LEVA - CLASSE7 - CLASSE7LEVA - CLASSE8
CLASSE9 - EPOCA

RANCILIO 35002508

1245023  BOILER PRESSURE GAUGE ¢ 40 mm 0+2.5 bar
single scale 0+-2.5 bar - connection g 1/8"M
rim ¢ 44 mm - body 8 40 mm
for Coffee machine (RANCILIO) CLASSE10

RANCILIO

1245900 BOILER PRESSURE GAUGE ¢ 52 mm 0+2.5 bar
single scale 0+2.5 bar - connection g 1/4"M
rim ¢ 57 mm - body 6 52 mm
for Coffee machine (RANCILIO) S20

RANCILIO 35002504

1245013  BOILER-PUMP PRESSURE GAUGE ¢ 63 mm
double scale 0+2.5/0+16 bar - connections g 1/8"M

rim @ 70 mm - body 6 63 mm
for Coffee machine (RANCILIO) MILLENNIUM - S20

RANCILIO 35162505




RANCILIO %@

Suitable for: Suitable for:

1245651 BOILER-PUMP PRESSURE GAUGE ¢ 63 mm 1245012 PUMP PRESSURE GAUGE ¢ 41mm 016 bar
double scale 0+2.5/0=-16 bar - connections ¢ 1/8"M single scale 016 bar - connections ¢ 1/8"M
rim ¢ 70 mm - body ¢ 63 mm rim ¢ 44 mm - body ¢ 41 mm
for Coffee machine (RANCILIO) Z11 for Coffee machine (RANCILIO) CLASSE10 - CLASSE11

CLASSEG6 - CLASSE7 - CLASSES - CLASSE9 - EPOCA

RANCILIO 35062501 RANCILIO 35002509

Pressure switches

1320541 PRESSURE SWITCH PARKER 1320531  PRESSURE SWITCH P302/6 3-POLES 30A
CEI-UL approved CE-SEV-ASE-UL approved
connection g 1/4" ISO 228 G connection 1/4"M for pipe ¢ 4x6 mm
scale 0.5+1.4 bar adjustable scale 0.5+1.4 bar
differential 0.18+0.03 bar fixed differential 0.15 (= 0.06) bar
maximum pressure 2.1 bar fluid temperature max :140°C
maximum temperature 140°C max contact load : 220V 7KW (30A)

400V 12KW (30A)

RANCILIO 34200112 RANCILIO 34200110 RANCILIO 34200111 RANCILIO 9006806
3320500 PRESSURE SWITCH 1LEVEL 5031294 PRESSURE SWITCH 2785 0-4 BAR 3/8"
calibration 56/25 mm with 3 wire cable length 1000 mm
for Coffee machine (RANCILIO) AUDREY - EPOCA for Coffee machine (RANCILIO) CLASSET10 - CLASSE11
KATHY - LUCY - S20 CLASSEG6 - CLASSE7 - CLASSES8 - CLASSE9 - EPOCA
EPOCA NEW

RANCILIO 34200061 RANCILIO 34200063 RANCILIO 34200288

Probes

1341801 TEMPERATURE PROBE ¢ 3/8"M
for Coffee machine (RANCILIO) CLASSEG6 - CLASSE8
EPOCA - S24-S26 - S27

RANCILIO 34070174



/

N

)| ‘/‘P
’ RANCILIO
Suitable for: Suitable for:

Protection plates

1201801 LEVEL/PRESSURE GAUGE COVER ML
for Coffee machine (RANCILIO) MILLENNIUM

RANCILIO 38123563

Relays
3351021 POWERRELAY FINDER 62.82.8.230.0000 3351008 POWERRELAY FINDER 62.83.8.230.0000
230V 50/60Hz 230V 50/60Hz
2 exchange contacts 16A 3 exchange contacts 16A
RANCILIO 65929115 RANCILIO 65229036
3351602 POWERRELAY FINDER 65.31.8.230.0300 3351601 RELAY B1-3 16A 230V 50/60Hz
230V 50/60Hz 3 NO contacts
1 contact NO 30A
RANCILIO 65229029 RANCILIO 34200196
3351605 RELAY POWERFINDER 60.63.8.230.0000
230V 50/60Hz

3 exchange contacts 10A

RANCILIO 34200192 RANCILIO 65229024 RANCILIO 68023190

Rotary switches

1319047 SELECTORSWITCH 0-1 POSITIONS 20A 500V 1319807  SELECTORSWITCH 0-2 POSITIONS 32A 600V
square pin 5x5 mm square pin 5x5 mm
for Coffee machine (RANCILIO) Z11 for Coffee machine (RANCILIO) S20 - Z11

RANCILIO 34030006 RANCILIO 34030025



RANCILIO
Suitable or: Suitable for:
Rubberpieces for steam-water taps
1186180 BURN PREVENTING RUBBERPIECE ¢ 10 mm
RANGILIO 36390004
Seals for level glasses
1186251 FLATEPDM GASKET ¢ 18x12x3 mm

for level glass

RANCILIO 36103002

Shower screens for brew group

1081602 PRECISION SHOWERNANOTEC @57 mm 1460203  PRECISION SHOWER SCREEN ¢ 57 mm
rivestimento antiaderente in NANOQUARZO central hole 5.5 mm - 98 holes @ 3 mm
aumenta la resistenza a corrosione Aisi 316 stainless steel - food-safe certified
e da attacco chimico integrated membrane 200 pM
foro centrale 5,5 mm - 98 forig 3 mm for Coffee machine (RANCILIO)
acciaio Aisi 316 - certificata alimentare
membrana integrata 200 pm
adattabile per macchine BEZZERA-MAGISTER-PAVONI
PROMAC-RANCILIO

& TRESEID SN

RANCILIO RANCILIO

1460208 PRECISION SHOWER SCREEN ¢ 57 mm 1081036 SHOWER@57.5mm

RANCILIO

central hole 5.5 mm - 112 holes g 2 mm
Aisi 304 stainless steel - food-safe certified
wire membrane 35 pM

for Coffee machine (RANCILIO)

for Coffee machine (RANCILIO) CLASSET10 - CLASSE11

CLASSE6 - CLASSE7 - CLASSES8 - CLASSE9 - EPOCA

MILLENIUM - S20 - 7211

RANCILIO 40200005




v RANCILIO

Suitable for: Suitable for:

1081003 SHOWER SCREEN ¢ 57.5 mm 1081536 SHOWER SCREEN ¢ 57.5mm
for Coffee machine (RANCILIO) CLASSE6LEVA for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
CLASSE7LEVA -S10-Z711-279 CLASSE7 - CLASSES8 - CLASSE9 - EPOCA

MILLENIUM -S20 - 711

10

RANCILIO 40200030 RANCILIO 40200040 RANCILIO 40200005

Showerholder diffusers

1086014 SHOWERHOLDER DIFFUSER
external 58 mm - height 10 mm - hole g 16 mm
for Coffee machine (RANCILIO) CLASSE10 - CLASSE11
CLASSE6 - CLASSE7 - CLASSE8 - CLASSE9 - EPOCA

RANCILIO 20200181 RANCILIO 20200182
Solenoid valves
1120332 COILLUCIFER/PARKER 220/240V 9W 50Hz 3120032  COIL PARKER ZB09 9W 220/240V 50/60Hz
width 32 mm - height 38 mm width 34 mm - height 33 mm
length 43 mm length 43 mm

for Coffee machine (RANCILIO) EPOCA

RANCILIO RANCILIO

3120054 COIL SIRAIZ530A 24V 50Hz 9W 14VA 3120034 FEMALE LARGE CONNECTOR

width 31.5 mm - height 43 mm for coils
length 42.5 mm

RANCILIO RANCILIO




RANCILIO
Suitable for: Suitable for:
5501168 SOLENOID VALVEODE 2 WAY 24VDC 1120279  SOLENOID VALVEODE2 WAYS110/120V 15VA
TECNOPOLIMER PPS body corpo in TECNOPOLIMERO PPS
RUBY seal - orifice 3.0 mm tenuta in RUBINO - orifizio @ 3,0 mm
with coil BDV08024CS 24VDC 8W con bobina BDV08110AY 110/120V 50/60Hz 15VA
temperature -40°C +180°C temperatura -40°C +180°C
NSF certified certificata NSF
for Coffee machine (RANCILIO) CLASSE10
RANCILIO 34040027 RANCILIO 34040106
1120268 SOLENOID VALVEODE3 WAYS 230V 50/60Hz 5501167 SOLENOID VALVEODE3 WAYS 24VDC
TECNOPOLIMER PPS body TECNOPOLIMER PPS body
RUBY seal - orifice @ 1.5 mm RUBY seal - orifice g 1.5 mm
CONICAL connection CONICAL connection
with coil BDV08230AY 230/240V 50/60Hz 16VA with coil BDA08024CS 24VDC 8W
fluid temperature -40°C +180°C temperature -40°C +180°C
NSF approved NSF approved
RANCILIO 34040149 RANCILIO 34040024 RANCILIO 34040151
1120466 2-WAY SOLENOID VALVELUCIFER 115V 60Hz
7121ZBG1LVOO - fittings @ 1/8"FF - max 10 bar
VITON seal - orifice 2.5 mm
with coil 48351055 F 9W 110/115/120V 50/60Hz
fluid temperature -10°C+140°C
RANCILIO 34040109
1120331 2-WAY SOLENOID VALVE LUCIFER 240V 50Hz 1120332  COILLUCIFER/PARKER 220/240V 9W 50Hz

121FS1651A - max 10 bar

RUBY seal - orifice # 3.5 mm

with coil 48351056 9W 220/240V 50/60Hz
fluid temperature -40°C+140°C

RANCILIO 34040115

RANCILIO

width 32 mm - height 38 mm
length 43 mm
for Coffee machine (RANCILIO) EPOCA




Suitable for:

RANCILIO

Suitable for:

1120460 2-WAY SOLENOID VALVE LUCIFER 240V 50Hz
7121ZBG1LVO0O - fittings @ 1/8"FF - max 10 bar
VITON seal - orifice 2.5 mm
with coil 483510 9W 220/240V 50/60Hz
fluid temperature -40°C+140°C

N o= 4

RANCILIO 10060500 RANCILIO 10060517 RANCILIO 34040002

1120332  COIL LUCIFER/PARKER 220/240V 9W 50Hz

width 32 mm - height 38 mm
length 43 mm
for Coffee machine (RANCILIO) EPOCA

RANCILIO

1120339 3-WAY MECHANICAL COMPONENT PARKER
VE128IR - drain @ 1/8" conical - max 10 bar
RUBY seal - orifice ¢ 1.3 mm
fluid temperature -30°C+140°C

RANCILIO

1120102  3-WAY SOLENOID VALVE LUCIFER 115V 60Hz

E131F4304 - drain @ 1/8" conical - max 10 bar
RUBY seal - orifice g 1.5 mm

with coil 483510S5 9W 110/115/120V 50/60Hz
fluid temperature -40°C+140°C

RANCILIO 34040107

1120330 3-WAYSOLENOID VALVE LUCIFER 240V 50Hz
E131F4304 - drain @ 1/8" conical - max 10 bar
RUBY seal - orifice @ 2.5 mm
with coil 48351056 9W 220/240V 50/60Hz
fluid temperature -40°C+140°C
for Coffee machine (RANCILIO) EPOCA

19

RANCILIO 34040008

1120332  COIL LUCIFER/PARKER 220/240V 9W 50Hz
width 32 mm - height 38 mm
length 43 mm
for Coffee machine (RANCILIO) EPOCA

RANCILIO

1120101 3-WAY SOLENOID VALVE PARKER 115V 50/60Hz

VE128IR - drain @ 1/8" conical - max 10 bar
RUBY seal - orifice g 1.3 mm

with coil ZB09 9W 110/120V 50/60Hz
fluid temperature -40°C+140°C

RANCILIO




RANCILIO
Suitable or: Suitable for:
1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz 3120032  COIL PARKER ZB09 9W 220/240V 50/60Hz
VE128IR - drain ¢ 1/8" conical - max 10 bar width 34 mm - height 33 mm
RUBY seal - orifice 1.3 mm length 43 mm
with coil ZB0O9 9W 220/230V 50/60Hz
fluid temperature -30°C+140°C
RANCILIO LF-1120306 RANCILIO RANCILIO

1120339 3-WAY MECHANICAL COMPONENT PARKER
VE128IR - drain @ 1/8" conical - max 10 bar
RUBY seal - orifice g 1.3 mm
fluid temperature -30°C+140°C

RANCILIO

Sparking and detection plugs

3001003 ROUND SPARKINGPLUG ¢ 7x44 mm
male faston M4x1T mm
total length 65 mm

RANCILIO 69000022
Spouts for coffee
1022522  ADJUSTABLE LONG DOUBLE SPOUT ¢ 3/8" 1022523  ADJUSTABLE SHORT DOUBLE SPOUT ¢ 3/8"
);L ¥
&
Fe
RANCILIO RANCILIO
1160559 CHROME PLATED SCREW FOR SPOUT 1022504  CLOSED SINGLE SPOUT g 3/8"

RANCILIO 23123015 RANCILIO




/

N

)| ‘/‘ﬁ
o RANCILIO
Suitable for: Suitable for:
1022502 DOUBLESPOUT ¢ 3/8" 1022524 DOUBLE SPOUT ¢ 3/8"
for Coffee machine (RANCILIO) EPOCA for Coffee machine (RANCILIO) AUDREY - NANCY
SILVIA - SILVIA NEW
RANCILIO 10707001 RANCILIO 10707008 RANCILIO 20112111
1022521 LONG DOUBLESPOUT ¢ 3/8" 1022032  SINGLESPOUT ¢ 3/8"
for Coffee machine (RANCILIO) CLASSE10 - CLASSE11
CLASSEG6 - CLASSE7 - CLASSES8 - CLASSE9 - EPOCA
RANCILIO RANCILIO 21102601
1022501 SINGLESPOUT ¢ 3/8" 1022506 SPOUTDOUBLE ¢ 3/8"
for Coffee machine (RANCILIO) EPOCA for Coffee machine (RANCILIO) CLASSE10 - CLASSE11
CLASSEG6 - CLASSE7 - CLASSES8 - CLASSE9 - EPOCA
RANCILIO 21102511 RANCILIO 21102513 RANCILIO 21100801
1165256 SPOUTDOUBLE ¢ 3/8" NANOTECH 1022503  STRAIGHT SINGLE SPOUT ¢ 3/8"
Rivestimento antiaderente in NANOQUARZO che for Coffee machine (RANCILIO) EPOCA
aumenta la resistenza a corrosione
e da attacco chimico.
Grazie al rivestimento interno e esterno
le superfici sono completamente antiaderenti,
il flusso d acqua e costante ed uniforme.
Trattamento certificato alimentare.
S
RANCILIO RANCILIO
1022551 TRIPLESPOUT ¢ 3/8" 5031337 1-CUPSTRAIGHT SHORT SPOUT ¢ 3/8"
- §ﬁ . e
\ 4 ‘!
,,"E 32 ‘ 5 :
f w, :
’iﬁﬁp‘/ u
RANCILIO RANCILIO



RANCILIO
Suitable Or: Suitable for:
Springs
1250816  CAP SPRING ¢ 12x22 mm 1250808  CONTROL LEVER SPRING ¢ 14x23/40 mm

for Coffee machine (RANCILIO) CLASSE10 - 520 - Z11 for Coffee machine (RANCILIO) Z11

RANCILIO 39110030

RANCILIO 39210005

1250806 LEVEL SPRING@17.2x13 mm 1250801 LEVER GROUP SPRING
for Coffee machine (RANCILIO) MILLENNIUM - S20 external 44 mm - height 168 mm
711 for Coffee machine (RANCILIO) CLASSE6LEVA
CLASSE7LEVA
RANCILIO 39110012 RANCILIO 39120013 RANCILIO 39120014
1250029 LEVERSPRING ¢ 10x13/27 mm 1523674 NON-RETURN VALVE SPRING ¢ 6x28 mm
for Coffee machine (RANCILIO) CLASSE10 for Coffee machine (RANCILIO) S10-711-Z79
RANCILIO 39220030 RANCILIO 39110065
1250812 SHOCK ABSORBER SPRING ¢ 13x64 mm 1250028 SPRING ¢ 10x26 mm
for Coffee machine (RANCILIO) CLASSE10 - Z11 for Coffee machine (RANCILIO) EPOCA - S20 - Z11
RANCILIO 39220025 RANCILIO 39110064
1250810 SPRING ¢ 10x31/45 mm LEVER RECALL 1250030 SPRING ¢ 11x20 mm

for Coffee machine (RANCILIO) Z11

RANCILIO 39220010

for Coffee machine (RANCILIO) AUDREY - EPOCA
NANCY - SILVIA - S20 - 711

RANCILIO 39110040




(\» | /(/‘
v

Suitable for:

RANCILIO

Suitable for:

1250151 SPRING ¢ 12x15 mm FOR STEAM PIPE
for Coffee machine (RANCILIO) CLASSE10 - EPOCA
S$20-711

RANCILIO 39110025

1250026  SPRING ¢ 12x31 mm
for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
CLASSE6LEVA - CLASSE7 - CLASSE7LEVA - CLASSE8
CLASSE9 - EPOCA

RANCILIO 39110035

1250040 SPRING ¢ 8x55 mm
for Coffee machine (RANCILIO) CLASSE10 - Z11

TAVAVAVAVATAVAVAAVATATAL

RANCILIO 39110060

1250820  STEAM HANDLE SPRING

RANCILIO 32210001

1250819 VALVESPRING ¢ 16x30 mm
for Coffee machine (RANCILIO) CLASSE10 - S20 - Z11

RANCILIO 39110008 RANCILIO 39110010

1250817  VALVESPRING ¢ 17x39 mm
for Coffee machine (RANCILIO) CLASSE10 - S20 - Z11

RANCILIO 39110072

Steam taps and spares for coffee mach.

1548055 BUSHING TAAPLH
for Coffee machine (RANCILIO) CLASSET10 - CLASSE11
CLASSEG6 - CLASSE6LEVA - CLASSE7 - CLASSE7LEVA
CLASSES8 - CLASSE9 - EPOCA - EPOCA NEW

RANCILIO 10701240 RANCILIO 20112601

1548054 BUSHING TAPRH
for Coffee machine (RANCILIO) CLASSET10 - CLASSE11
CLASSEG6 - CLASSE6LEVA - CLASSE7 - CLASSE7LEVA
CLASSES8 - CLASSE9 - EPOCA - EPOCA NEW

RANCILIO 10701239 RANCILIO 20112603

1348804 CUP WARMER WATERTAP
for Coffee machine (RANCILIO) Z11

RANCILIO 10060130

1528022  GASKETFASTENING NUT
for Coffee machine (RANCILIO) S20 - 711

RANCILIO 23206005




Suitable for:

RANCILIO %

Suitable for:

1528019 NUT WITH GASKET
for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
CLASSE6LEVA - CLASSE7 - CLASSE7LEVA - CLASSE8
CLASSE9 - EPOCA

RANCILIO 10060001

5033627 QUICK LEFT STEAM TAP WITH VENTING
for Coffee machine (RANCILIO) CLASSE10 - CLASSE11
CLASSEG6 - CLASSE6LEVA - CLASSE7 - CLASSE7LEVA
CLASSES8 - CLASSE9 - EPOCA

RANCILIO 10060101 RANCILIO 10060104 RANCILIO 10060134

5033628 QUICK RIGHT STEAM TAP WITH VENTING

for Coffee machine (RANCILIO) CLASSET10 - CLASSE11

CLASSE6 - CLASSE6LEVA - CLASSE7 - CLASSE7LEVA
CLASSES8 - CLASSE9 - EPOCA

RANCILIO 10060102 RANCILIO 10060106 RANCILIO 10060135

1250025 SPRING GUIDE
for Coffee machine (RANCILIO) S20 - Z11

RANCILIO 23123010

1250027 SPRING GUIDE
for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
CLASSE6LEVA - CLASSE7 - CLASSE7LEVA - CLASSE8
CLASSE9 - EPOCA

RANCILIO 25132003

1186670  STEAM PIPE ARTICULATION BUSHING ¢ 12x5mm
external @ 12/9 mm - internal @ 7 mm
thickness 5/1.8 mm
for Coffee machine (RANCILIO) CLASSE10 - EPOCA
S20

RANCILIO 23119005 RANCILIO 25119005

1348805 STEAM TAP
connections ¢ 3/8" - 3/8"
for Coffee machine (RANCILIO) CLASSE10 - EPOCA
MILLENNIUM -S20 - 711

RANCILIO 10060109 RANCILIO 10060114

RANCILIO 10060110

1348855 STEAM/WATERTAP
connections ¢ 3/8"
for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
CLASSE6LEVA - CLASSE7 - CLASSE7LEVA - CLASSES8
CLASSE9 - EPOCA - 520

RANCILIO 10060100




Suitable for:

RANCILIO

Suitable for:

1348052 TAP ADJUSTING BUSHING
for Coffee machine (RANCILIO) CLASSE10 - EPOCA
MILLENNIUM - S20 - 711

RANCILIO 26220015

1348045 TAPBUSHING
for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
CLASSE6LEVA - CLASSE7 - CLASSE7LEVA - CLASSE8
CLASSE9 - EPOCA -S20

RANCILIO 23220029

Steam-water pipes coffee machines

1449141 CHROME-PLATED COMPLETE STEAM PIPE ¢ 6 mm
pipe length 180 mm
for Coffee machine (RANCILIO) SILVIA

Y

RANCILIO 10049046

1449811  COMPLETE STEAM PIPE
for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
CLASSE8 - EPOCA - MIDI - TECNA - 711

\%‘.

RANCILIO 10706003

1449053 COMPLETE WATER PIPE
for Coffee machine (RANCILIO) CLASSET10 - CLASSE11
CLASSES8

RANCILIO 10049014

1449864 COMPLETE WATER PIPE
for Coffee machine (RANCILIO) MILLENIUM

RANCILIO 10049017

RANCILIO 10706026

1549057 HOSESTEAM COMPLETE CHROME-PLATED ¢ 10mm
hose length 210 mm
for Coffee machine (RANCILIO) SILVIA NEW

RANCILIO 10049063

1449865  STAINLESS STEEL STEAM PIPE COMPLETE
for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
CLASSE8 - MILLENIUM

"-\,/"\

RANCILIO 10706024

1449051 STEAM PIPE COMPLETE CHROME-PLATED ¢ 10 m
hose length 265 mm
for Coffee machine (RANCILIO) CLASSE6
CLASSE6LEVA - CLASSE7 - CLASSE7LEVA - CLASSES8
EPOCA - EPOCA NEW - S20 - S24 - S26 - S27
Z11

SN

RANCILIO 10706003 RANCILIO 10706008 RANCILIO 10706017

1449863  STEAM PIPE COMPLETE STAINLESS STEEL ¢ 10
hose length 265 mm
for Coffee machine (RANCILIO) MILLENIUM

W Ve,

RANCILIO 10049016 RANCILIO 10706024




RANCILIO
Suitable or: Suitable for:
Switches
1319902 BIPOLARSWITCHBLACK 16A 250V 1319859  BIPOLARSWITCH 16A 250V
with indicator led lamp mounting hole 13x20 mm
mounting hole 22x30 mm for Coffee machine (RANCILIO) MILLENNIUM
for Coffee machine (RANCILIO) CLASSE7
%‘
RANCILIO 34030971 RANCILIO 10705355
1319860 BIPOLARSWITCH 16A 250V 1319215  BLACKBIPOLAR SWITCH 16A 250V
mounting hole 13x20 mm with orange led indicator light
for Coffee machine (RANCILIO) MILLENNIUM "flash" screen printing
mounting hole 22x30 mm
RANCILIO 10705356 RANCILIO 34030064
1319806 BLACKBIPOLARSWITCH 16A 250V 1319809  BLACKBIPOLAR SWITCH 16A 250V
with orange led indicator light with red led indicator light
"hot water" silk-screen printing "coffee cup" silk-screen printing
mounting hole 22x30 mm mounting hole 22x30 mm
for Coffee machine (RANCILIO) MILLENNIUM - SILVIA for Coffee machine (RANCILIO) FANTASY - SILVIA
S20 S20
RANCILIO 34030029 RANCILIO 34030047
1319862 BLACKBIPOLARSWITCH 16A 250V 1319865 BLACKBIPOLAR SWITCH 16A 250V

16(4)A 250V - with orange led indicator light
"lightning" silk-screen printing
mounting hole 22x30 mm

for Coffee machine (RANCILIO) FANTASY - MILLENNIUM

SILVIA -S20

RANCILIO 34030037

with red led indicator lamp

mounting hole 22x30 mm

for Coffee machine (RANCILIO) CLASSE10 - CLASSE6
CLASSE6LEVA - CLASSE7 - CLASSE7LEVA - CLASSE9
EPOCA

RANCILIO 34030970




N/
M /6

v

Suitable for:

RANCILIO

Suitable for:

1319262 BLUEBIPOLAR SWITCH 16A 250V
with indicator lamp
silk-screen printing "coffee cup”
mounting hole 22x30 mm

RANCILIO 34030072

1319805 BLUEBIPOLAR SWITCH 16A 250V
with indicator lamp
silk-screen printing "cup warmer"
mounting hole 22x30 mm
for Coffee machine (RANCILIO) S20 - Z11

RANCILIO 34030039 RANCILIO 34030073 RANCILIO 34030074

3319425 ORANGEBIPOLARSWITCH 15A 250V
with indicator lamp - faston 4.8x0.5 mm
mounting hole 13x20 mm
for Coffee machine (RANCILIO) EPOCA

RANCILIO 34030069

1319115 PUSH-BUTTON PANEL 1 BUTTON
for Coffee machine (RANCILIO) EPOCA

€ E
<

a

3

RANCILIO 10111035 RANCILIO 10111036

5067116 PUSH-BUTTON PANEL 1 BUTTON
frontale 67x50 - dima di foratura 49x50 mm

RANCILIO 10705679 RANCILIO 10705783

1319105 PUSH-BUTTON PANEL 3 BUTTONS
for Coffee machine (RANCILIO) CLASSE10

RANCILIO 10111044 RANCILIO 10705364

1319113 PUSH-BUTTON PANEL 5 BUTTONS
for Coffee machine (RANCILIO) CLASSE10

RANCILIO 10705348 RANCILIO 10705361

1319114  PUSH-BUTTON PANEL 5 BUTTONS
for Coffee machine (RANCILIO) CLASSE10

RANCILIO 10705363 RANCILIO 10705365

1319803 PUSH-BUTTON PANEL 5 BUTTONS
for Coffee machine (RANCILIO) S20 - 711

RANCILIO 10705226

5044894 PUSH-BUTTON PANEL 5 BUTTONS
for Coffee machine (RANCILIO) EPOCA DE

RANCILIO 10111031




RANCILIO

Suitable for: Suitable for:

3319501 PUSH-BUTTON PROTECTION CAP

external dimensions 29x36 mm
for switches with mounting hole 22x30 mm

RANCILIO 34030131

Tampers for coffee

1385002 NYLON COFFEE TAMPER ¢ 50/57 mm

RANCILIO 38120005

Terminal blocks

3247016 3-POLE TERMINAL BLOCK FV273 40A 450V 3247037  4-POLETERMINAL BLOCK FV173 40A 600V
for cable max 6 mm?2 for cable max 6 mm?2
operating temperature 150°C operating temperature 150°C
nominal voltage 450V nominal voltage 450V

RANCILIO 34150023 RANCILIO 65220010

3247009 6-POLETERMINALBLOCK FV122/B 40A 600V
for cable max 6 mm2
operating temperature 150°C
nominal voltage 450 V

RS

RANCILIO 34150024 RANCILIO 65220011



v RANCILIO

Suitable for: Suitable for:
Thermostats
1444005 BIPOLARTHERMOSTAT 165° 2102106 TERMOSTATO MONOFASE 169°C
capillary length 470 mm - 16A 400V ariarmo automatico
for Coffee machine (RANCILIO) EPOCA - MILLENNIUM lunghezza capillare ricoperto 510 mm

bulbo @ 4x124 mm

RANCILIO 10701195 RANCILIO 34200093 RANCILIO 34200097

1444509 THREE-PHASE THERMOSTAT 169°C 1444004 THREE-PHASE THERMOSTAT 187°C
with manual reset manual reset
covered capillary 900 mm covered capillary 830 mm
bulb ¢ 4x128 mm bulb ¢ 4x124 mm

for Coffee machine (RANCILIO) CLASSE10 - S20

RANCILIO 34200095 RANCILIO 34200096

3444230 TWO-POLETHERMOSTAT 165°C
capillary 500 mm - 25A 277V
for Coffee machine (RANCILIO) EPOCA - S24 - S26
S27

RANCILIO 34200092

Tools
1505002 EXTRACTORFORFILTER S.STEEL WITH HOLE 3394906 TELESCOPIC KIT ¢ 30x165 mm

extension overall length 485 mm

¢

T —

RANCILIO RANCILIO



N
RANCILIO %@
Suitable for: Suitable for:
Vibrating pumps
1349651 PIPETTEFITTING 90° EX EP 2102265  VIBRATION PUMP EP5 41W 120V 60Hz
SANTOPRENE fittings ¢ 1/8"- @ 6 mm
internal pump connection g 6 mm max pressure 15 bar
hose-end fitting 7.5 mm max water temperature 25°C
diodo integrato (1N 4007P)
lead connector 6.3x0.8 mm
NSF approved
for Coffee machine (RANCILIO) BETSY - FANTASY
SILVIA -S20
@
P
€
bG
RANCILIO 38121034 RANCILIO 34011023

1122737 VIBRATORY PUMP EP5 48W 230V 50Hz
fittings 0 1/8"- ¢ 6 mm
pressure max 15 bar
water temperature max 20°C
integrated diode (1N 4007P)
lead connector 6.3x0.8 mm

RANCILIO 34011026

Water containers for OCS HORECA

5023308 WATERCONTAINER
dimensions 205x200x93 mm
for Coffee machine (RANCILIO) EPOCA - SILVIA

RANCILIO 38120334 RANCILIO 38123012
Water filling taps

1348810 INLETTAPBODY 1348811  SPACERINLET TAP

for water inlet tap for water inlet tap

RANCILIO 20121012 RANCILIO 23208015




RANCILIO

Suitable for: Suitable for:

1348807 WATERINLET TAP
for Coffee machine (RANCILIO) CLASSE10
MILLENNIUM - S20

RANCILIO 10060260 RANCILIO 10060290
Water softeners and accessories

3010001 MANUALWATER SOFTENER 8L ¢ 3/8" 3010161 MANUALWATER SOFTENERS L ¢ 3/8"
for water treatment for TECHNICAL purposes for water treatment for TECHNICAL purposes
STAINLESS STEEL cylinder capacity 8 L plasma welding
connection 3/8" STAINLESS STEEL cylinder capacity 8 L
dimensions: height 400 mm - ¢ 185 mm connection 3/8"
resin content 5.8 L dimensions: height 400 mm - ¢ 185 mm
regeneration salt(NaCl-table salt)1 Kg resin content 5.8 L

regeneration salt(NaCl-table salt)1 Kg
inlet water maximum temperature 60°C

RANCILIO RANCILIO

3010112 RESINSL 3010299  SALEPERADDOLCITORE IN PASTIGLIE 10 Kg
5 litre bag PER IMPIANTI DI ADDOLCIMENTO ACQUA

RANCILIO RANCILIO

3010300 SALTFORWATERSOFTNER IN TABLETS 25 Kg
FOR WATER SOFTENING SYSTEMS

RANCILIO






	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2

